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1 Producers  are people who make goodsor  provide  services.

consumers

The people whobuy  goods  and services are

An __ investor  isaperson or group that  invests = money in a business.

are people who start and run their own  businesses

A marketplace  isa place where goods and services are  bought  and sold.

2
3
4 Entrepreneurs
5
6

Distribution  involves transporting or _ delivering  goods to a number of

people or places.

N

The  using  of goods and servicesis _ consumption

The  value
called the

9 The amount ofa product or service that people want to buy is the demand .

of something that is not chosen when choosing between two things is
opportunity cost

10 Ifthe  supply ofa productincreases,the  price  usually goes down.

() o1 Zolsigisti Clolg T2t HIzto| At MAlQ,

HIZ=stC manufacture | consume manufacture
=St distribute | produce distribute
QIZ20|M | deflation | inflation inflation
(@ =101 g ciols 22t 23 BIAIL,
"""" consumption  free-market ~  law  median  factors
distribution consumed profits price demand

In1_free-market economies, companies decide what and how much of a product they

will produce. However, they are interested in making 2 profits . So they do not want to
produce too much or too little of a product. They want to produce exactly the right amount
necessary. So they often pay attention to the 3 law of supply and demand. This law states
that when the supply of a product is low yet 4 demand 1is high, then the price will be
high. However, if the supply of a product is high yet demand is low, then the price will
be low. Companies want to find a5 median . But, there are often other 6 factors that
companies must consider. Once they make something, they must deliver it to the market.
This way, people can purchase the product. This is called 7 distribution . Without an

effective distribution system, even in-demand products will not sell well. Once products
are at the market, they must be 8 consumed . This means that people purchase them.

The amount of 9 consumption depends on many things. It depends on the supply and
demand, of course. And the 10 price is also another important factor.
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1 A __ topographic  map shows the features of the Earth’s  surface , including

hills, mountains, and valleys.

2 Contour _lines are used to show something’s elevation on a topographic _map .
3 The  Arctic Circle  lies at the line of latitude approximately 66 degrees

north  of the equator.

4 The _ Antarctic Circle  lies at the line of latitude approximately 66 degrees

south  of the equator.
5 The  Tropic  of Cancer is found at the line of _ latitude  23.5 degrees north.
The Tropic of  Capricorn  is found at the line of latitude 23.5  degrees south.

7 Eachspoton Earthhasan  absolute  location identified by the lines of latitude and

longitude

8 Relative  location is the approximate location of a placein __relation  to other

landmarks.

9  Something’s  elevation is how high orlowitis compared to the level of the sea.

10 The process by which __ fertile  land becomes desert is called desertification

() a1y Zolsigsti Clolg T2t HIzio| Al HA BAlQ,

HASIC compare | denote denote
AlHSHCH identify | identification identify
Afatst elevation | desertification desertification

population tropical temperate seasons climate
extreme constantly polar weather neither

There are three main 1 climate zones on the Earth. They are the tropical, temperate, and
polar climate zones. The 2 tropical zones are found near the equator. Basically, they are
found between the Tropic of Cancer and the Tropic of Capricorn. In general, the tropical
zone has hot 3 weather most of the year. Many areas in the tropical zone have very wet
weather, but this is not always the case. The 4 temperate zones are the largest of the three
main climate zones. One temperate zone lies between the Tropic of Cancer and the Arctic
Circle. The other temperate zone lies between the Tropic of Capricorn and the Antarctic
Circle. Most of the world’s 5 population lives in temperate zones. Temperate zones are

6_neither too hot nor too cold. They experience changing 7 seasons all year long. For
the most part, the weather is not too 8 extreme in these places. The 9 polar zones are
found north of the Arctic Circle and south of the Antarctic Circle. The weather in these
places is 10_constantly cold. Few people live in these places.
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AHAEX} producer ol deraie e v

AH|X} consumer 10 supply 3=

EXIX} investor 11 produce AHALSICE HIZESIC

7|47t entrepreneur 12 consume  AH[GCH

INESS marketplace 13 distribute SHHSICH FSAIZICH SSoiCt
BHf, =  distribution 14 reap (0|2l S2) S2Ict H=Ct

AH| consumption 15 scarcity 2= =7

713H|2 opportunity cost 16  Gross Domestic Product (GDP) =ILH SAAt
oroko OF
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entrepreneur consumption producer demand consumer
opportunity cost distribution marketplace investor supply

Entrepreneurs  are people who start and run their own businesses.

7|7t AHAlOl AHE ARGl 2E5ke ARSI,

An __ investor  isa person or group that invests money in a business.

FXK= Aol == FAtoke Ao (L ZEOIC

A marketplace  is a place where goods and services are bought and sold.

A2 &S0 MBIATE AL Eel= RO0lE,

Distribution  involves transporting or delivering goods to a number of
people or places. RE2 AES of2f ARO[t AN &S B SHE LS RIS

The using of goods and services is _consumption

SE0 MH|IAS ArBshE 0] A4H|0[C,

The value of something that is not chosen when choosing between two things
is called the  opportunity cost

= SO0IM SILIE 1S T MEHZ|X] 22 O 9| 7IXIZ 7[|2H[E0[2t1 it

If the  supply ofaproduct increases, the price usually goes down.

O MiZ2l 50| S0{LE 1 7HA42 T LisZict,

The amount of a product or service that people want to buy is the demand .
AMHE0| A |E Eot=s &F0|H AMH[A9] 0] ~20|C,



03 Daily Test

1 Duringthe Ice Age it was so cold that much of the Earth’s surface was
covered by huge sheets of ice called _ glaciers .

2 Peoplelearned howto  farm  inthe New  Stone Age

3  Humans learned how to make  things with bronze during the Bronze  Age .

4 Duringthe Iron  Age ,humansbeganto make weapons and tools from iron.

5  One of the world’s first farming civilizations arose in the  Fertile Crescent  in
Mesopotamia.

6  Believing in and worshipping  multiple ~ godsis  polytheism

Believing in and worshipping  only  one godis  monotheism

8 The Codeof  Hammurabi is the oldest set of laws and was created by the

Babylonian  king Hammurabi.

9 The  Israelites  spoke alanguage called  Hebrew

10 According to the Hebrew Bible, God made a  covenant with a man named Abraham .

() o1y Zolsigisti Clolg 2t HIzto| Al Ha MAlQ,

Z=o|ct establish | domesticate domesticate
SHisHCH tame | worship worship
M=OICHCt | wander | practice wander
37| Alch Stone Age | Bronze Age Bronze Age
(@ =101 YL cioiz 22t 23 BIALL,
© descendant religions ‘gods covenant tribes
Yahweh Israelites Egypt named Abraham

In the past in the Middle East, there were many different 1 religions . People often prayed
to many gods. There were mountain gods. There were 2 gods  of rivers, lakes, and seas.
There were all kinds of gods. However, one religion began that worshipped only one god.

There was a man 3__named  Abram. He was said to be a 4 descendant  of both Noah

and Adam. He lived in a land called Canaan. There, the god Yahweh made a 5 covenant
with Abram. Yahweh promised Abram many descendants and said that the land he was
living on would forever be theirs. In return, Abram had to worship only ¢ Yahweh .
Abram agreed. His name changed to 7__Abraham , which means “father of many nations.”
Abraham’s descendants through his son Isaac became the 8 Israelites . Isaac and his wife
Rebecca later had twins: Jacob and Esau. Jacob’s descendants founded the twelve 9 tribes
of the Israelites. For a time, they were powerful. Later, they were made slaves and taken to
10 Egypt . It was in Egypt that Moses would later free the Israelites and return them to
their land many years later.
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1 XI¥=, XM= _topographicmap = ¢ elevation £0|, 1

26 =oidl contour (line) 10 desertification Al=fst

3 =53¢ Arctic Circle 11 denote HEAISICH LIEHACEH

L == Antarctic Circle 12 identify SloIsICH ATt

5 S87M _TropicofCancer = 13 utilize olgaict, sttt

6 HEAAM Tropic of Capricorn 14 make use of ~Z 0|3slc, EEsict
7 Hi™ Qx| absolute location 15 lines of longitude Z(=)A

8 AIHA 2|x| relative location 16 lines of latitude (=
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Tropic of Capricorn Antarctic Circle relative location topographic map
Tropic of Cancer Arctic Circle absolute location elevation

-

A  topographic map shows the features of the Earth’s surface, including
hills, mountains, and valleys. XI&=E 75 A ASS 286t0] X|HHO| EXS 20| &Lt

2 The  Tropic of _ Cancer isfound at the line of latitude 23.5 degrees
north. =374 29| 23559| 24 Aol ULt

3 The Tropic of Capricorn is found at the line of latitude 23.5
degrees south. =72 9| 23579 1 Aof| UCt,

4 The _ Antarctic Circle lies at the line of latitude approximately 66
degrees south of the equator. S=F&2 9/ 2 66=2| 2 4oi| PIx[SiCh

5 The  Arctic Circle lies at the line of latitude approximately 66 degrees
north of the equator. E3#2 =% ot 66=2| 2 Aof| PIx[SHCt

6 Relative location is the approximate location of a place in relation to
other landmarks. 4th& Xl Ch2 BXIS0e| A 0f THE 0 20| t2fHQl (0|t

7 Each spot on Earth hasan __ absolute location identified by the lines of
latitude and longitude. xI7 49| 2t XF2 eludnt 2ol sl AlHEl= MhH XIS 7Ex|a UC

8 Something’s elevation  is how high or low it is compared to the level of the

sea. O Ao| &= sli4-Hut H|wsto] 2240] Lot 22X 22 H2XI1E Ll




04 Daily Test

1 The  Indus Valley  civilization was based on irrigation farming.

Hindus believe in _ reincarnation , whichis  rebirth  in a new body.

The four  Vedas are the oldest  sacred  texts of Hinduism.

N WO DN

The Indian _ raja  Chandragupta Maurya founded the first Indian empire in about
321 B.C.

The Shang  dynasty  beganin 1750 B.C.in the Huang He Valley.
The Chinese Empire was often referred to as the ~ Middle Kingdom

Warlords ~ were military leaders who had their own _armies in ancient China.

The Chinese  language  is made up of thousands of _ pictographs

O 00 N o o

The tsar  was theruler of  Russia .

10 Shinto , Japan’s oldest religion,is  based  on nature.

() o1 Zolsigst Clolg T2t HIZio| Al HA MAlQ,

A7 |CH reincarnate | restrict reincarnate
SUTHSSICE | unite | centralize centralize
Sslct unify | make up unify
HHEXL photograph | pictograph pictograph

@ =701 e ciolz 22t 23 PBIAIL,

22X+ -
modern-day civilization nomads translated objects
archaeologists advanced writing agriculture first

In the Indus Valley, which is in 1 _modern-day India and Pakistan, an early civilization
formed long ago. It lasted from around 2500 B.C. to 1500 B.C. It is also known as the
Harappan 2_ civilization . The people in the Indus Valley civilization mostly farmed the
land. So they knew the secret of 3 _agriculture . This let them stop living as 4 _nomads .

But they were not just farmers. They also built many cities. 5 Archaeologists have found
several settlements where there were cities. They built palaces, temples, baths, and other
buildings. They also planned their cities on a grid pattern. So they were laid out in squares.
The people of the Indus Valley were 6 _advanced in other ways, too. They made pottery.
They made 7__objects  from both copper and bronze. And they even had their own
8 writing system. It was based on pictographs. But it has not yet been 9 translated . The
Indus Valley was one of the world’s 10 first  civilized areas. Little is known about it. But
researchers are learning more and more every year.
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1 HI5h7| Ice Age 9 Code of Hammurabi &iZzH| EH
2 A7| AlCH Stone Age 10 Fertile Crescent H|=2&t=&E Kol
3 ZAS=7| At Bronze Age 11 domesticate ZISo|ct Zlect
4 7| AlCH Iron Age 12 tame ZIS0|Ct
5 AHSF Aok covenant 13 worship SHiSICE GlHisICH
6 Cii polytheism 14 practice ShSIct =olct
7 UMD monotheism 15 wander [C=OCHLC, Si[aHCt
8 3220 Hebrew 16 establish - (@7 S58) +&lsiCt
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© monotheism  NewStoneAge  BronzeAge ceAge  Hebrew
polytheism Fertile Crescent Code of Hammurabi Iron Age covenant ‘
1 People learned how to farm in the ~ New Stone Age .
AMT]ACHO AIFEE sARE BS LUC
2 Humans learned how to make things with bronze during the  Bronze
QiZte HEcz = Nes e UL
Crescent
ot ZEY XICHOILA it

L O =5
monotheism
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Age . FS7| Altiof
One of the world’s first farming civilizations arose in the _Fertile
= mIAZLEHD|OFS] H

3
in Mesopotamia. A7 £z
4 Believing in and worshipping only one god is
Q%] ofLtel A12H 11 Shlfsh= Z40] Palwolck.

Believing in and worshipping multiple godsis  polytheism
is the oldest set of laws and was created

5
2] A2 21 Stifeh= 20| CRalwo|c
of Hammurabi

6 The Code
by the Babylonian king Hammurabi.
e <ehE fHo 2 sz ool & a0l ofo 2SR,

g2 7

22|
The Israelites spoke a language called  Hebrew
with a man named

7
0|ARIARISE 5|22zt 22l HHE HIUCE
8 According to the Hebrew Bible, God madea  covenant
™ A2 ot=efelol2k= AT A2tS WRAC

Abraham. sl=z|Aof| oJst

10
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1 The  Minoans lived on theisland of  Create .

2 The  Mycenaeans  conquered the Minoans.

3 The  Phoenicians  invented an alphabet that is the basis for the  alphabet  we

use today.

4 Greek  city-states  had different values and cultures.

Greek city-states were _ built  around an __ acropolis

During the  Hellenistic  era, Greek culture spread around the  Mediterranean

region.

Akingor  queen rulesalandina  monarchy

8 An__ oligarchy  isruled by only a few wealthy and _ powerful  people.

9 The Pax Romana began under Augustus’s rule, and it lasted nearly 200 vyears.

10 Constantine I issued the Edict of Milan and made Christianity legal.

n

() o1y Zolsigsti Clolg 2t dIzio| Al B MAlQ,

X|distch oppress | reign reign
AR5t oppress | reign oppress
=t grant | spread grant
33= democracy | republic republic

patricians overthrew founded Senate masters
Punic Wars emperor dictator republic corrupt

According to legend, the brothers Romulus and Remus 7 founded =~ Rome in 753 B.C.
Rome grew larger until around 620 B.C., when a group of people called the Etruscans
conquered it. The Etruscans ruled Rome for 111 years. In 509 B.C., the Roman people
2 overthrew King Tarquin the Proud. The Romans made a new kind of government.

It was called a republic. Under the 3 republic , they elected a small number of people
to be their leaders. These leaders were called 4 patricians . Up to 300 of them could
be elected to the 5 Senate . For the next 500 years, Rome remained a republic. Rome
began to grow more powerful. From 264 B.C. to 146 B.C., it fought the ¢ Punic Wars

against Carthage. The Romans won and became the 7__masters of the Mediterranean Sea.
Soon, the republic was enormous. But it became 8 corrupt . A general—Julius Caesar—
challenged the rule of the Senate and became a 9_dictator . Yet he was murdered in 44 B.C.,
and the republic was ruled by three leaders. Eventually, Octavian won and became the first
Roman 10__emperor . The republic was gone. Now it was the Roman Empire.

"
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olfA 2 Indus Valley civilization 9 warlord Gl ==0) =5 2+

Sy reincarnation 10 Shinto (=) A=

HICH Veda 11 reincarnate BHUA|7|Ct

(mCH Qlzo) & raja 12 be restricted to _~0il (2 XISHS BiTt
264X 27} dynasty 13 centralize = SYEHEs!6iCt S0l Zoct
(@) == =35} Middle Kingdom 14 unify SsiCh Safsict

ASIEX} pictograph 15 shogun (U= SHEACHO)) AF, &
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raja pictograph Indus Valley dynasty warlord
Veda reincarnation Middle Kingdom Shinto tsar
The _ Indus Valley  civilization was based on irrigation farming.

[
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Hindus believe in  reincarnation
SIFNESE ME2R 592 CHA] Ef0{LEE Stds &

which is rebirth in a new body.
=Lt

The Indian _ raja  Chandragupta Maurya founded the first Indian empire in
about 321 B.C. Ql=2o| & Ft=atZEt 0iR2|0ks 7|27 321540] & Q1= H=S MISC

The Shang  dynasty  began in 1750 B.C. in the Huang He Valley.

AR (EEX)= ob RAOIA 7 [ET 175001 ARF=IRACE

The Chinese Empire was often referred to as the  Middle Kingdom

= H=2 &0l S=fn S

Warlords ~ were military leaders who had their own armies in ancient
China. S&2 1t S=20iM XIS ZHS 4 ZAF RIEXIACE

The Chinese language is made up of thousands of _ pictographs
S0z o8 e HEEX = 0IF0{ UL,

The

tsar  was the ruler of Russia. xt2= 2iAote] EX[XIQICE



06 Daily Test

1 A caravan isa group of traders who travel along trading routes by _ camel .

The Bedouins livedinthe  desert and traveled in caravans.

Muhammad  was the founder of the religion of  Islam .

Muhammad is regarded asa _ prophet  of Allah by  Muslims

2
3
4
5 Muslims must  fast during daylight hours during the month of ~ Ramadan
6 Mecca _is the holiest city in Islam because the prophet Muhammad was _born there.
7

A caliph  wasa Muslim political and religious leader who was selected as a
successor  of Muhammad.

8 A__ bazaar  isalarge marketinthe  Middle East

9 The__ Ottoman Empire  was the greatest Islamic Empire and was located in

the area of modern-day  Turkey .

10 A sultan isarulerofan  Islamic  country.

() o1y Zolsigsti Clolg T2t HIzio| Al B MAlQ,

stk flourish | prohibit flourish
ZAlstCt devote | forbid forbid
HEX|CH dedicate | expand dedicate
E2qLHCt reveal | decline reveal

founder dynasty reigns caliphs Constantinople
defeated meanwhile arose spread Mediterranean

In 632, Muhammad died. He was the 1 founder of Islam. At his death, there were few

Muslims. And they had very little land. But after Muhammad’s death, Islam began to
2 spread rapidly. Soon after Muhammad’s death, Muslim leaders selected 3 caliphs to

govern the Muslim community. During the 4 reigns of the first four caliphs (from 632 to
661), Islam spread throughout the Arabian Peninsula. By 661, Islam conquered land from
Persia in the Near East to Egypt in Africa. From 661 to 750, the Umayyad 5 dynasty ruled
the Islamic world. They spread Islam throughout northern Africa. In 711, an Islamic army
crossed the 6 Mediterranean  Sea and entered Spain. In a few years, they had captured
Spain. The Muslims went north and entered France. But, in 732, Charles Martel 7 defeated
an Islamic army near Tours. The Muslim advance to the north was stopped. 8 Meanwhile ,

the Muslims could not defeat the Byzantine Empire in the east. They advanced on
9 _Constantinople several times. But they always lost. Later, however, the Ottoman Empire
10_arose in the east. It challenged the Byzantines. In 1453, the Ottomans conquered it.

13
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1 32EL AR} Minoan . 9 PaxRomana T4 Zopt

2 OAY A Mycenaean 10 Edict of Milan _ Zat- 21

3 HLZ|ot A2 _ Phoenician 1 reign 22i5ict KHiBICE ZRS A}
4 EA=T} city-state 12 oppress _ 2AUBICH SiThsICh ERGICH
5 OfF=E2|A _acropolis 13 grant ZCt =05t

6. J2|A Z9| #|L|E2| . Hellenistic 14 confer Z=r} 20451

7 =N monarchy 15 tyrant = (mrf dalAo) A

8 1= Fx|, =A| _oligarchy 16 dictator SRRE R EH2IK}

() wiziol wgke T2 wIloIA Zat Wil S| g 31X MA|Q,

Edict of Milan Hellenistic oligarchy Pax Romana Phoenician
Minoan city-state monarchy Mycenaean acropolis

1 The Mycenaeans conquered the Minoans. DIAUIRISS FHERISS H=3UCH,

2 The Minoans lived on the island of Create. F2IEIRIS2 F2i|EF Ao A AUTH

3 Greek city-states  had different values and cultures.
O2|AL| TAIEVIES ME CIZ2 7EX|QF 2312 71X |1 QUL

4 Greek city-states were built around an __acropolis
J2AL| EAZTVIEE Ot 2 Z2|A 20l MIICE

5 During the Hellenistic era, Greek culture spread around the Mediterranean
region. {LE At S 22A 2ak= XSal K| 3201 HACH

6 Akingor queenrulesalandina  monarchy
TEHOIM= 0L (0] L2t trAEIT,

7 An__ oligarchy isruled by only a few wealthy and powerful people.

WEAE B 20 B0t M Qs MRS 2ol trASHTIn,

8 The Pax Romana  began under Augustus’s rule, and it lasted nearly
200 years. A 20z OfRPAFEAO] X|HfSIOAM AREIUL, 72| 2007 X E(UC

14
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1 Feudalism  was the most _ prominent  social system in Europe during the
Middle Ages.

2 Inthe Middle Age, most Europeans were Christians, and the _ Catholic
Church  had great power.

3 The  Magna Carta , also called the Great Charter, was originally issued in
the year 1215 by King John of England.
4 A plague  calledthe  Black Death  killed millions of people in Europe

in the fourteenth century.
5 Guilds were associations of craft workers such as masons, bakers, and blacksmiths .

6 The  Reformation  began in the sixteenth century as an attempt to _ reform
the Roman Catholic Church.
7  Roman Catholics began a reform movement called the  Counter-Reformation

8  Martin Luther’s followers were called  Protestants

9  The Inquisition investigated people suspected of heresy and of not being _Christians .
10 Public  executions  were common _ during the Inquisition.

() 221 ol Bigsts Clolg Tat Hiziol Ml 414 MALQ,

HHA|Z|CE perfect | infect infect
SEolct split | clash clash
7Hd5iCt reform | declare reform

protests Reformation Europe Anglican intend
upset excommunicated violent dominated posted

For centuries, the Catholic Church 1 dominated life in Europe. But many priests in the
Church were corrupt. Some people were 2 upset  about that. One of them was Martin
Luther. In 1517, he 3 posted  his 95 theses on a church door in Wittenberg, Germany.

They were a list of his complaints about the Church. This was the beginning of the
Protestant 4 Reformation . Luther did not 5 intend to form a new church. He only
wanted to reform the Roman Catholic Church. But the Church called him a heretic and
6 _excommunicated him. This caused a split in Germany. Many of the German people

disliked the Church. But they wanted to remain Christians. The Reformation soon turned
7 _violent . In Germany, Catholics and Protestants fought against each other. This
happened until 1555. At the same time as the problems in Germany, the Reformation
quickly moved across 8 Europe . Men like Jean Calvin and Ulrich Zwingli led their own
9 protests  against the Church. Soon, new Protestant sects were founded. And, in
England, the 10 Anglican  Church was founded when Henry VIII broke away from the
Roman Catholic Church. 15
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1 (Alate)) chAt  caravan .9 Ottoman Empire 2A8{o&0H A=
2 HIF2(F) Bedouin 10 sultan SEHozgD=0| )

3 OiSHE Muhammad 1 forbid Zalct SRt

4 NX|XE o|iX}  prophet 12 prohibit ot SXIGHt

5 Ziopct Ramadan 13 dedicate HEXICE S8loich

6 M7t Mecca 14 devote HEXIEE, (~0f]) IEHSHCE

7 Zhig|m caliph 15 reveal EqLHCt LIERHCE AASHEE
8 (B=9) Al bazaar 16 decline 2|E[SICTE

Ramadan prophet caliph Ottoman Empire Mecca
Bedouin caravan sultan Muhammad bazaar

1 A caravan s a group of traders who travel along trading routes by camel.

thede HEtZ FH=E w2t tdlict= HiE2] HTHO|C,

2 The Bedouins lived in the desert and traveled in caravans.

T2l Z2 Atafof AEHNM S 0|0 (UL

3 Mecca is the holiest city in Islam because the prophet Muhammad was
born there. Ti7H= XX} OIEHETE 2320{A] EHOY7| KHR0H O1ZRIMOIM 7HY HARIR EAl0|Ch

4 Muhammad is regarded asa _ prophet  of Allah by Muslims.

DisHEE OlsEHu =0 Y2kel MAXIZ AT

5 A _ caliph wasa Muslim political and religious leader who was selected as a
successor of Muhammad.

Ze|Ze= OIEHES| 2AXZ MEE Ols3wl EXIH - SuX X|=XIRACE

6 A bazaar isalarge market in the Middle East. fxt= 552/ 2 AlEo|Ct,

7 The _ Ottoman Empire  was the greatest Islamic Empire and was
located in the area of modern-day Turkey.
AR HI=E 7HE it Oled M=o0IRlen 22| H7| X[Hol| /IR AU

8 A  sultan isaruler of an Islamic country. 2&2 olz2fu=o| #F0lck

16



08 Daily Test

1 Theeighteenth  century  is called the age of ~ Enlightenment

2 The Enlightenment was an age of  rationalism

3 The  geocentric  theory is the theory that the sun and the stars __ revolve
around the Earth.

4 Galileo Galilei believed in Copernicus’s _ heliocentric theory

5 The divine right of kings states that kings have been  chosen  to rule by God.

6  Liberty, equality, and brotherhood became the slogan of the French _ Revolution .

7  King Louis XVI called a meeting of the Estates-General in 1789.

8 The  Bastille  wasa prison in Paris and was an important __ symbol  in the
French Revolution.

9 Napoleon  Bonaparte became the emperor of France _ following  the French
Revolution.

10 Napoleon was defeated by the  Duke  of Wellington at the Battle of ~ Waterloo
in 1815.

() a1y Zolsigisti Clolg Zat Hizio| At MAlQ,

SE execution | execute execute
=2 H|ct seize | behead behead
==5ick overcome | banish overcome
Zsict exile | defeat exile

@ =701 Qe ciolz B2t 22 BIAIL,

clergy rebelled divine right oppressive Bastille
French beheaded nobles revolution monarchy

In France in the eighteenth century, life was difficult for most people. The ruler of France
was the king. He ruled by *_divine _ right . This was the idea that God had chosen the
king to be the ruler. This meant that the king could do anything he wanted. There were also
nobles with great power in France. The 2_clergy mostly lived good lives, too. But the rest

of the people had difficult lives. In the 1780s, the world was changing. The Americans had
won their 3 revolution  with England and become free. The French people wanted the
same thing. King Louis XVI and his wife, Marie Antoinette, were 4 oppressive  rulers.

They taxed the people. But the people became tired of their poor lives. So, on July 14, 1789,
they 5 rebelled . They stormed the ¢ Bastille on that day. It was a prison in Paris. They
freed the prisoners and took the weapons that were there. The 7__French Revolution had
begun. The French Revolution was very violent. Louis XVI was 8 beheaded during the
revolution. More 9 _nobles and clergy were killed, too. Thousands of people died during
the revolution. In the end, the 10__monarchy was destroyed. 17
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Catholic Church Magna Carta Protestant Inquisition feudalism
Counter-Reformation Black Death guild Reformation execution

Feudalism  was the most prominent social system in Europe during the
Middle Ages. 27ixlz= SAl S0 R 7HY FE4TI ARIRIERC
In the Middle Age, most Europeans were Christians, and the  Catholic
Church  had great power.

Sl thEE2] FERIE2 22|ARw MXS0|UL, 7IE8 wal= afdet 812 71X QURUCE

Guilds  were associations of craft workers such as masons, bakers, and
blacksmiths. Z== A3, MBAL CHARO| 22 $Z US| ZE0|ACE

The  Inquisition investigated people suspected of heresy and of not being
Christians. &AM ZmaTAE 0TH0|Lt T2|AETDET} Ol ZI02 oMlel= ARISS ZARICE

The Reformation began in the sixteenth century as an attempt to reform the
Roman Catholic Church. Swise 20t 7152 nals Jhsiotetiz AIZ2 16M17 [ofl AR,

Roman Catholics began a reform movement called the _Counter-Reformation .

20t 7153 welE2 HEWNS02 Ras VY 252 ARRICH

Martin Luther’s followers were called  Protestants

O REO| 2EXI=2 T=2H|ARE2IT SR

Public _ executions  were common during the Inquisition.

SUAE Soil= 370 XH0| LEFH0IRACE,
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1 During the Ageof  Imperialism , European nations competed to establish
colonies  in Asia.

2 Nationalism  is excessive  devotion  to one’s country.

3 The  Great Powers  in Europe dominated much of the world in the
nineteenth and twentieth centuries.

4 Many European countries had _ rivalries with  one another.

Countries often establish _alliances with one another so that they can work _together .

6 In_ 1918 ,the Germans and the Allied Powers signed an _ armistice  to end
World War 1.

7  'The Russian Revolution led to the downfall of the tsar  and the onset of
communism in Russia.

8 Communism is based on communal ownership of all _ property

9  Russia became the world’s first communist nation after the Russian civil  war .

10 Totalitarianism  is an oppressive  form  of government.

() o1 Zolsigistl Clolz 2t Hizio| Al B BAlQ,

ZIotole) take place | take over take over
RHEHSICE adopt | tyrannize adopt
el ki) modernize | establish modernize

declared World War | horrified weapons other
enormous assassinated trouble swiftly alliances

For centuries, European countries had fought each other. But, from 1914 to 1918, there
was a different kind of war. It was a world war. At that time, people called it the Great War.
Later, it was called T World ~ War I (WWI). At first, people thought it would just be
another war. By the time it ended, millions were dead. And many people were 2 horrified
by the carnage of war. Before WWI began, many European countries had 3 alliances
with each other. They promised to defend other countries if they were in 4 trouble . On
June 28, 1914, Archduke Francis Ferdinand of Austria-Hungary was 5 assassinated  in
Sarajevo. The Austrians quickly 6 declared  war on Serbia. However, because of the
different alliances, what should have been a small war became an 7__enormous  one. The

Central Powers led by Germany, Austria-Hungary, and the Ottoman Empire were on one
side. The Allied Powers led by England, France, and Russia were on the 8 other side. The
Germans 9 swiftly attacked France. For four years, each side succeeded in killing many
of the other’s soldiers. Tanks and airplanes were used in war for the first time. So were
chemical 10 weapons . Finally, the war ended. But it didn’t end war. Around two decades

later, World War II began.
19
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Estates-General geocentric Enlightenment rationalism Napoleon
French Revolution heliocentric divine right Bastille Waterloo

H=zo| Enlightenment .9 Napoleon LiZ2IS

O|4E, 22|zl rationalism 10 Waterloo #E=2

s geocentric theory 11 execute X&i5ict

X=A heliocentric theory 12 behead Z3d0f| XSiCH
g4 _ divine right (sl seize (2 ot
oz2tA &EH  French Revolution 14 exile FHisicH F4Holl XMsltc
2R3 Estates-General 15 banish Zatsich 3ol XMttt
HIAE|S Bastille 16 guillotine  Et5CH

QIES GRS HY|Of A B2t L SHH SOHol Qi TH MALL.
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The eighteenth century is called the age of  Enlightenment

18M7 = A2l Althete S2Ict

The Enlightenment was an age of _ rationalism . 7AIS32| Alch= &f2152]2] AL

Galileo Galilei believed in Copernicus’s __ heliocentric  theory.

ZE|Q 280l Fn=UFA XISES UAUCL

The _ divine right  of kings states that kings have been chosen to rule
by God. zhISM2 22 Aoj| ol Li2ts ChAs| =S MEf=IRictn Ll

Liberty, equality, and brotherhood became the slogan of the  French
Revolution . xR, &S, Exiol= Zgia SYo| £2710] =AU,

King Louis XVI called a meeting of the __ Estates-General  in 1789.

0] 16Ml= 178901 3| 2215 ALSIAUCE,

Napoleon  Bonaparte became the emperor of France following the French
Revolution. L2 ELm2Es T2A % Sof Z2tA0] SIR7t ERACt

Napoleon was defeated by the Duke of Wellington at the Battle of  Waterloo

in 1815. LiZ2S2 18154 IZ=2 TR0l LH SEof7 THRICL
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After World War II, many nations demanded independence  from  colonial rule.

2 NATO __ stands  for the North Atlantic  Treaty  Organization.

3 The Warsaw Pact was a group of communist countries founded to counter NATO .

4  The USA and the USSR wereinan __ arms race  after World War II ended.

5 Mohandas Gandhi taught civil _ disobedience  and nonviolent  refusal  to
British rule in India.

Anti-Semitism  is discrimination against Jews.

7 Apartheid was the segregation policy of the government of South  Africa .

8 Refugees  are people who are displaced from their homes, often because of wars or
natural  disasters

9 Globalization includes the spread of economies,  technology , and culture
among countries.

10 Terrorism is the attacking of civilians to achieve political _ purposes

() a1y Zolsigsti clolz 2t Hizio| | B BAlQ,

ARfstot suppress | persuade suppress
SN |CH independence | convince | convince
APECHSIHCH discriminate | terrorize discriminate
(CHE) 1B =& | guerrilla | genocide genocide

due to telecommunications rarely affect countries
easily globalization leads occur increased

In the years after World War II, the world greatly changed. Much of this was 1 due to
new technology. For instance, the jet was developed. This 2 _increased the speed that
people could travel. There were also advances in 3 telecommunications . Computers

and the Internet were invented. It became much easier for people to communicate with
others all around the world. This has led to the spread of 4 globalization . Basically, the
world is becoming a smaller place. In the past, what happened in one country 5 rarely
affected other countries. Or it took a long time for any effects to & occur . But the world

is different today. Because of globalization, what happens in one part of the world can
7__affect places all around it. Thanks to globalization, people can now do business more
8 easily with those in other countries. When you go to the supermarket, you can see
various foods from all of the different countries. This happens because of globalization.
Also, people are learning more about other 9 countries  these days. This 10 leads to
more understanding about other countries. Globalization has surely been good for the

world.
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S E=~e] nationalism . 10 totalitarianism _ ZFol
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Great Power civil war armistice imperialism communism
Russian Revolution rivalry alliance nationalism totalitarianism
During the Age of  Imperialism , European nations competed to establish
colonies in Asia. M=) AlcHoll R& =715 UCHE0] OLAOL0] A|RIXIS 2AACE,
Nationalism is excessive devotion to one’s country.

BIES0l= K=ol Chet ot £I=to|Ck

The Great  Powers in Europe dominated much of the world in the
nineteenth and twentieth centuries. |22 HUS2 19M1712} 20M17 |0 MIHQ| HEES oIt
Many European countries had  rivalries  with one another.
2 FE =7E0] M2 sk QUL

Countries often establish __ alliances  with one another so that they can work
together. =752 828 4 UEE E& M2 SUS Yert

In 1918, the Germans and the Allied Powers signed an __ armistice  to end
World War I. 1918501 Snt 16122 X1 &} MIAICHES BLi= SXEE0| MHRUCT,

The Russian Revolution led to the downfall of the tsar and the onset of
communism in Russia. 2{Aof HH2 2{AlofoflA Xt2 o] Z2tnt ZLtF0|0] AIRtS ZaiRhct,
Russia became the world’s first communist nation after the Russian  civil

_ war . 2iAoF LI B 2iAoks M| ZR0| ZAEI I EIRICE
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1 Taxonomy  isthe scienceof  classifying  living things.

2 The  sorting  of things or organisms into groups of similar things is called
classification

3 The  Monera  kingdom, also called prokaryotes, includes very simple single-celled
organisms like  bacteria

4  Organisms in the  Protista  kingdom are protists such as  amoebas , algae,
and some slime molds.

5 Organismsinthe Fungi kingdom include various mushrooms and yeasts.

The  Plantae  kingdom includes a wide variety of organisms from tiny mosses to
ferns  and flowering plants.

7  Organisms in the Animalia kingdom include over 1 million different kinds of animals .

8 Arthropoda , thelargest  phylum  of the Animalia kingdom, include insects,
spiders, and crabs.

9 Mollusca , the second largest phylum in the Animalia kingdom, include _oysters
snails, and squids.

10  Fish, birds, reptiles, amphibians, and mammals are all chordata with backbones

() o1 Zolsigst Clolg Zat HIZio| | A MALQ,

~0 7|82 Lt | be based on | classify be based on
=F5ICt sort | place sort
2rs= mollusca | arthropoda arthropoda
(M=) & genus | species genus

Plantae Animalia Monera characteristics unicellular
Protista Fungi multicellular kingdoms species

There is an amazing variety of life on the Earth. Scientists have classified all forms of life
into five different 1 kingdoms . Each kingdom has its own 2_ characteristics . The first
is the 3 Monera kingdom. There are about 10,000 species in it. The members of this
kingdom are prokaryotes that are 4 unicellular . Its members include various kinds
of bacteria and some algae. The second is the 5_ Protista kingdom. There are around
250,000 species in it. The members of this kingdom include protozoans and some kinds
of algae. The third is the 6 Fungi kingdom. There are around 100,000 7__species _in
it. Members of this kingdom are similar to plants. But they do not use photosynthesis to
create nutrients. Mushrooms are members of this kingdom. The fourth is the 8 Plantae
kingdom. There are around 250,000 species in it. Plants, trees, flowers, and bushes all
belong to this kingdom. The fifth is the 9 Animalia kingdom. It is the biggest with over
1,000,000 species in it. It is formed by 10 multicellular animals.
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After World War II, many nations demanded _ independence  from colonial

rule. ®2xt MAICHE & 22 LI2tS0| ARl SXI2RE{2| S7I2 Q7

The _ Warsaw Pact  was a group of communist countries founded to
counter NATO. HiEAHIROD = LIS tialstr| fI5tod HEE iel 27H59] FH0IRI

The USA and the USSR wereinan  arms race  after World War 11

ended. D/EE=R0 AR MRt MAICHEHO| Bt £ FHIZE ZMS SIXUCE

Mohandas Gandhi taught civil  disobedience and nonviolent refusal to
British rule in India. 28icta 2icl= @=o| QI X|uHof CHE ARl =80 HIZSN 725 Jt24(C

Anti-Semitism is discrimination against Jews. gtRciFol= Roielof thst xiolct,

Refugees  are people who are displaced from their homes, often because of
wars or natural disasters. P2 =5| ZHo|Lt XteixaR QlsH T=0lA AX|2 HLER ARS0ICE

Globalization  includes the spread of economies, technology, and culture
among countries. AM7Zsh= 0424 Liet 2t X, 7|&, 23te] 2hits ZESITt,

Terrorism _is the attacking of civilians to achieve political purposes.

Helelge X8 =282 Fdst| flall ARlEs SZct= Aot
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1 The study of heredity is  genetics

2 Humans have 23 pairs of chromosomes , all of which carry  genetic  information.

3 DNA , which stands for deoxyribonucleic acid, is the  primary  material that
comprises chromosomes.

4 Cell division  is what causes organisms to grow.

5 Body cells make morebodycellsby  mitosis .

6 Reproductive  cells are produced by  meiosis .

7 A __ dominant  gene is one that is expressed physically or _ visually .

8 A recessive gene is present in the body butis overshadowed by a dominant gene.

9 A mutation isarandom changeina  gene .

10 Natural selection is the process by which species that are best __adapted

to their environment survive and reproduce.

() 2212 ol sigsti Clolg Tat Hiztol Ml 414 MAlQ,

THAISHC consist | regulate regulate
=[St duplicate | control duplicate
LSiC take place | take up take place
SAHOISIC | comprise | mutate mutate

peas genetics carry experimenting recessive
basis modify colors crossbreeding Mendel

These days, scientists can do amazing things with genetics. They can _modify the genetic
structure of plants. This can let them produce more fruit or grain. Some are even resistant
to diseases. But the field of 2 genetics is very young. It is barely over 100 years old. And it
was all started by a monk called Gregor Mendel. Gregor 3_Mendel enjoyed gardening. He
especially liked to grow 4 peas in his garden. While doing that, he noticed that some pea
plants had different characteristics. He saw that some were tall while others were short. The
5 colors of their flowers were different. And there were other differences, too. He wanted
to know why. So he started é experimenting with them. Mendel started 7 crossbreeding
plants with one another. He learned about dominant and 8 recessive  genes this way.

He created hybrids, which are plants that 9 carry the genes of different plants. He grew

many generations of peas and learned a lot about them. What Mendel learned became the
10_basis for modern genetics.

25
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1 BR EZst taxonomy 9 classification E&(H), 28 A7
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Fungi arthropoda chordata classification Protista

Taxonomy is the science of classifying living things.

=] SHS S =l 5
22sle MEs Hests S0,

The sorting of things or organisms into groups of similar things is called
classification . A0l MES I3 250 UHez BRsl= 28 2FEolatn 3tk

Organisms in the _ Protista _ kingdom are protists such as amoebas, algae,
and some slime molds. 2ME7o] 422 oftilut, =7, HZRet 22 2HMS0|Ct,

The ~ Monera  kingdom, also called prokaryotes, includes very simple
single-celled organisms like bacteria.

Tt =02t e oh= HeiME= 2iH2[0MKE ofF Hatt HARE M=S Zefeirh

Organisms in the ~ Animalia  kingdom include over 1 million different
kinds of animals. 272 422 1810 Zo| g CiUst S22 ZEisiCh

The  Plantae  kingdom includes a wide variety of organisms from tiny
mosses to ferns and flowering plants.

AEAE 232 0170 MRE LXIFet ZAIZ0M 0127 17EX| Chelet Helol WSS =eleirt,

0
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Arthropoda , the largest phylum of the Animal kingdom, include insects,
spiders, and crabs. 272 715 2 201 X522 ZEF, HolR, RS ZEsit

Fish, birds, reptiles, amphibians, and mammals are all  chordata  with

backbones. 012 22 IIER UMR, LRRE DE XMFT} Q= MMEZ0|C)
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1 Long-day plants like sunflowers need many hours of _ daylight in order to bloom.
Short-day  plants  need long periods of ~ darkness  in order to bloom.

Angiosperms  are flowering plants whose  seeds  are surrounded by a fruit.

Gymnosperms _like conifers produce seeds that are not _ surrounded by a fruit.

The seed leaf  isthe mainleafinan  embryo .

The transfer of pollen from one flower to another is called  cross-pollination .

Wind-pollinated  flowers are pollinated by the wind.

2
3
4
5
6 The  transfer  of pollen within the same flower is called __self-pollination
7
8
9

Animal-pollinated  flowers are pollinated by animals.

10 An embryo inside a seed is protected by a tough outer coat for  germination

() 2212 ol sigsti Clolg ot Hiztol Ml 1M MAlQ,

Etat ~2AlZICE | self-pollinate | cross-pollinate | cross-pollinate
A7 |CH reproduce | fertilize fertilize
£H-MoICt thrive | bloom thrive

CHA-O annual | perennial perennial

BI10IA QOHL Clots Zat 23 oHgstAle
' pollination offspring female dormant wind
reproductive insects germination steps rubs off

All plants reproduce somehow. This allows them to produce ' offspring that wil
grow into mature plants. There are two important 2 steps  in plant reproduction. The
tirst is pollination. The second is germination. Most plants have both male and female
3 reproductive organs. However, they must come into contact with each other in order
for the plant to reproduce. This happens through 4 pollination . Pollen from the male

part of a plant must reach the female part of the plant. This can happen in many ways.
The 5 wind may sometimes blow the pollen from one part to the other. But this is very
ineffective. Many times, animals such as bees, butterflies, and other é insects  pollinate
plants. As they go from plant to plant, pollen gets stuck to their bodies. When they land
on a new plant, some of it 7 _rubs _ off . Many times, this pollinates the plant. Once the
pollen goes from the anther (the male part) to the stigma (the 8 female part), the plant

has been pollinated and can start to reproduce. The other important step is germination.
9 Germination happens after a plant’s seeds have been formed. At first, the plant’s seeds
are 10__dormant . However, when they germinate, they come to life and begin to grow. If

the conditions are good, then the seed will become a seedling.
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1 SAlsh genetics 9 natural selection  AIIMEH XIH=EY
2, SAA| chromosome 10 regulate TIAISHCE ZEsiCt

3 MN=ZzEd cell division 11 duplicate Ex[sIc

L SAHEE  mitosis 12 take place UOJLIT}, EliSiTt
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meiosis
dominant

DNA
recessive

chromosome mutation natural selection
cell division mitosis genetics
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2 DNA

3 Cell

Humans have 23 pairs of
information.

chromosomes , all of which carry genetic

QIZh2 234 FMAIE ZHXILL Y=, ANE 2F = R HEE XL Tt

, which stands for deoxyribonucleic acid, is the primary material
that comprises chromosomes. CISA2|ESHAS oj05H= DNAE SMFS 0IF= 7= 22|t

division

NEEE2 d=0| JEoH== dl=

is what causes organisms to grow.
=3

4 Body cells make more body cells by  mitosis .

HMME= FAZE0 Cloh o B2

HMMIZE 2H=C,

5 Reproductive cells are produced by  meiosis . MAMZE 242 0| s MAMEICY,

6 A

7 A  mutation

recessive
dominant gene.

8 Natural

selection

ERELN

is a random change in a gene.

gene is present in the body but is overshadowed by a

= =501 EMGHR|2E 2o RTXI0 2fsl 7 EIC,

SUHO = FHAIQ| HAHR! Helo|Tf,
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is the process by which species that are best

adapted to their environment survive and reproduce.
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1 Diversity  in ecosystems refers to the variety of  species  in an ecosystem.

2 The  interaction  of species helps create  balance  in an ecosystem.

3 A keystone species is an organism whose absence would dramatically  alter

an ecosystem.

4 Carbon constantly  circulates as solids, liquids, and gases in the _carbon _ cycle

5  The circulation of nitrogen from living organisms to the ~ nonliving  parts of the
ecosystem is the  nitrogen cycle

6 Symbiotic  relationships  involve  two organisms living together.

7 Parasitic  relationships harm one of the  organisms

8 Mutual  relationships  benefit  both organisms.

9  The relationship in which one organism benefits and the other organismis  neither

helped nor harmed is called ~ commensalism

10 There are two major types of  ecological  succession: primary and secondary

succession

() a1 Zolsigsti clolz 2t Hizio| Al B BAlQ,

AS=Zs|Ct interact | interpret interact
~0f =6ICH | undergo | take root in take root in
CheFst diversity | diverse diverse

cycle present compound atmosphere carbon
releases decompose Bacteria nitrogen petroleum

All living things are made from 1 carbon . But it is constantly changing forms. This is
called the carbon 2_ cycle . In the atmosphere, carbon is often 3 present in the form of
carbon dioxide. This is a 4 compound that has one carbon atom and two oxygen atoms.
Plants breathe in the carbon dioxide and use it to produce nutrients. The carbon then
becomes part of the plants. These plants die and then often get buried. Over time, these
plants may turn into fossil fuels like coal or 5 petroleum . People later burn these fossil
fuels, which 6 releases carbon dioxide into the atmosphere. Another important element
is nitrogen. There is also a nitrogen cycle. Nitrogen is actually the most common element
in the 7__atmosphere . Around 80% of the air we breathe is nitrogen. We don’t need
8 nitrogen like we need oxygen. But nitrogen is still important. There is often nitrogen in
the soil. Plants absorb the nitrogen from the soil. When people and animals eat the plants,
they release the nitrogen into their bodies. 9 Bacteria in people’s and animals’ bodies can
fix the nitrogen so that the bodies can use it. Later, when the people and animals die and
10_decompose , the nitrogen returns to the soil or the atmosphere.
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cross-pollination animal-pollinated short-day seed leaf angiosperm
self-pollination wind-pollinated long-day germination gymnosperm
1 Short-day  plants need long periods of darkness in order to bloom.

HAAMSE2 20| O|7| s 2 7[7t2] 0iF0| ERSIC,.

2 Angiosperms _ are flowering plants whose seeds are surrounded by a fruit.
SMAZ2 M7 E0H0H MO QL= ZAIZ0|E,

3 Gymnosperms _like conifers produce seeds that are not surrounded by a
fruit. g4 22 ZMAISS Hofol| Mo UX| LS NS BHS0] )

4 The  seed leaf  is the main leaf in an embryo. ®2/2 tiol F=2 lojct,

The transfer of pollen from one flower to another is called cross-pollination .
5t 2ol CI2 Zo=o| sii2o| 2412 Efsl 4-20j2im R2C)

6 Wind-pollinated  flowers are pollinated by the wind.

Si=k= Higofl 2fsh ~=ZEICt.

7 Animal-pollinated  flowers are pollinated by animals.

S=il=l= =01 2ls ~=2 =t

8 An embryo inside a seed is protected by a tough outer coat for _germination

MSE £01l S0 U= Hi= LOIE floh HEet 2lulof 2l 2= =t
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1 The immune system is the part of the body that protects it from infections .

2 The _ lymphatic  system helps protect the body from diseases by producing white
blood  cells.

3 Antibiotics  are medicines that kill _ bacteria

4 An__ infection  iscausedby  germs  or bacteria.

5 A __ contagious  disease maybe  transmitted  from one person to another.

6 An_ epidemic isa disease that spreads rapidly and makes many people sick.

7 A communicable  disease, like the flu or smallpox, is one that can be
communicated from person to __ person .

8 A vaccination = makesaperson  immune  to a certain virus.

9 Penicillin  destroys many types of _ bacterial  infections.

10 Viral  infections are those caused by  viruses .

() o1y Zolsigisti Clolg T2t Hiztol |t MAlQ,

5|A| stk clog | disable clog
HAA[Z|CH immunize | vaccinate immunize
OF|A[Z|CH invade | paralyze paralyze
A antigen | antibody antibody
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leukocytes immune invaders lymphatic antibodies
innate adaptive destroy vaccinations recognizes

Every day, the body is attacked by bacteria, viruses, and other 1 invaders . It is the
body’s 2 immune system that fights these invaders. It helps keep the person healthy. The
immune system is made up of various cells, tissues, and organs. White blood cells are very
important. They are also called leukocytes. They move through the body in 3 lymphatic
vessels. There are two types of 4 _leukocytes . The first try to destroy invading organisms.
These are phagocytes. The second are lymphocytes. They help the body remember various
invaders. This way, it can 5 destroy them in the future. Antigens often invade the body.
The body then produces ¢ antibodies . They fight the antigens. If the antibodies succeed,
they will always remain in the body. This lets the body fight the disease again in the future.
People are often born immune to certain diseases. This is called 7 _innate immunity. But
there is 8 adaptive immunity, too. This happens when the body 9 recognizes threats to
it. It then learns how to defeat them. Also, thanks to 10 vaccinations , people can become

immune to many diseases.
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7|44=Q1  parasitic 15 undergo Zick ASSICH
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diversity carbon cycle symbiotic interaction commensalism
mutual nitrogen cycle parasitic succession keystone species

Diversity  in ecosystems refers to the variety of species in an ecosystem.

HEHAIS| CHfE2 of HEHA 2holl U= B2l CrtyS Zreirt,

The _ interaction  of species helps create balance in an ecosystem.
729 d=2E2 HEiAel s HFE ol ==50] Ett

1oL O o= XTT L

Carbon constantly circulates as solids, liquids, and gases in the _ carbon
cycle . EtA aSloflA Eae TR, oA 712 ZRUGI0| Sttt

The circulation of nitrogen from living organisms to the nonliving parts of the
ecosystem is the  nitrogen cycle

EATL HEHM0IA MEfAIS| HIME REC2 wBlok= Z10] A &2to|Ct

Symbiotic  relationships involve two organisms living together.

A 2= F HE0| @ A= WS Sl

O

Parasitic _ relationships harm one of the organisms.

71 2= Bt E=0lAl ShE 7IEICt,

Mutual  relationships benefit both organisms.

dz = 7 d= 2507 oleds &t

There are two major types of ecological  succession : primary and
secondary succession. 4ef Foolli= 1kt 0|2t 2x} 0|, F 74x| FE RE0| ULk
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1 The mantle isthe part of the Earth between the crust and the ~ core .

2 The _ lithosphere  is made up of the crustand the  upper  mantle.

3 The  asthenosphere is right below the lithosphere, but it is less  rigid .

4 Millions of years ago, all of the  landmasses  on Earth formed one giant continent
called  Pangaea

5 Plate tectonics  is the theory that the Earth’s crust is made of moving plates.

6 The boundary  between the Earth’s crust and mantle is called the Moho .

7 A seismograph  detects earthquakes and  volcanic  activity.

8 Seismic  waves are underground waves that are caused by earthquakes

9 The  focus isthepoint where an earthquake begins.

10 The  epicenter  isdirectly  above the earthquake’s focus.

() 2212 ol Bigsts Tlolg ot HIZol Ml 14 MAlQ,

HFSICH drift | expel drift
=it collide | shift collide
==olct erupt | shake erupt
st gather | connect connect

magma forces lava pressure chambers
eruption explosive shoot beneath causes

Sometimes, volcanoes suddenly erupt. They spew tons of ash, gas, and lava. What is it
that makes a volcano erupt? Deep in the Earth, there is usually a lot of 1 pressure . Also,
the temperature deep underground can be very high. In fact, it is often high enough to
melt rocks. Melted rock that is beneath the ground is called 2 magma . The magma is
constantly trying to move up toward the surface. Under the earth, there are large pools of
magma that have gathered together. These are called magma 3 chambers . These magma
chambers often exist beneath volcanoes. Eventually, the pressure 4 beneath the earth
becomes too great. The magma 5 forces its way to the surface. This 6 causes a volcano
to erupt. When a volcano erupts, it often expels ash and gas. It can also expel magma.
Magma that is on the surface is called 7_lava . The size of the 8 eruption depends on
the amount of pressure that is released. Some volcanoes release a steady amount of lava.
These have a low amount of pressure. Other volcanoes erupt explosively. They can 9 shoot
ash miles into the air. They can expel lava and gas very far in the area. These are the most
dangerous eruptions. Mt. Vesuvius, Krakatoa, and Mt. St. Helens all had 10 explosive

eruptions that killed many people.
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1 . HIA A immune system 9 bacterial  =Eizlotel MiZel
2 BHzA lymphatic system 10 viral HIO [2{A(A)Q]

3 SMEz|(Q]) antibiotic 1 clog at5(7| 5iCt: ats(ctH

4 (H3) Z<E _infection 12 communicate _ (8S) THEA7ICE ZEARICH
5 g9 contagious 13 immunize _HIAZ|Ct HANS Frt

6 ROl R  epidemic 14 paralyze oAz |CH

7 EH communicable disease 15 disable AASICH 272 ok=rt

8 OUHE vaccination 16 antibody

penicillin immune system viral vaccination infection
lymphatic  communicable antibiotic epidemic contagious
1 The immune system _is the part of the body that protects it from

infections. HeAZi= ZEo2RE B8 H55HE AR 7|Ro|C

2 The lymphatic  system helps protect the body from diseases by producing
white blood cells. 2mr= 8272 dysto2m Lyo20F 22 Boots 42 S=Ct

3 Antibiotics  are medicines that kill bacteria. &#Ez2 diE2|0t2 Z0[= 2fo|Ct,

4 An _ infection is caused by germs or bacteria. Z&2 &x0|Lt ef2joto] lah A7Ic,

5 A _ contagious disease may be transmitted from one person to another.
THES O MHOIAIM M Aoz SAE 4 UK,

6 Penicillin  destroys many types of bacterial infections.

HU A2 B2 572 Mty 4SS QIiCt,

7 Viral _infections are those caused by viruses.
HIO|2Ad ZHHE2 BO[21201 Slal 47 |= & FHOl,

8 A _ vaccination makes a person immune to a certain virus.

OIYEES2 AF0| S dlo[21A0] thsh HAHAS 7HXI== SHECL
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1 7 Daily Test

1 The  rock cycle is the process by which a rock changes from one type to

another over _ thousands  of years.

The place where two or more plates meet is the _ plate boundary

The  composition  of soil varies depending onits  location

The process by which  crystals are formed is called  crystallization

Metamorphism  refers to the process by which metamorphic rock  forms .

Igneous  rocks are formed  through  volcanic activity.

Sedimentary  rocks are formed through the buildup of  sediment

0 N O o1 M WN

Index fossils  are fossils of organisms that are found in many places and

lived duringa  relatively  short period of time.

9  Thefossil  record  1isused to study the Earth’s  history .

10 A _mass extinction  occurs when a large number of species are suddenly killed.

() 221z ol sHigfst Crolg B2t HIZIol Al HA MAlQ.

ZEstsict petrify | crystallize | crystallize
o= E|C} fossilize | die out fossilize
(Ao S3) =HsiCt | date | extinct date

asteroid extinct extinctions evolved tremendous
dinosaurs humans died Cretaceous blocked

Every once in a while, a mass extinction occurs on Earth. When this happens, large
numbers of species all go 1__extinct  at once. Scientists have identified at least five mass

extinctions during Earth’s history. During these mass 2 _extinctions , up to 95% of all life
on the planet was killed. The last mass extinction happened about 65 million years ago.
Scientists refer to it as the K-T Extinction. 65 million years ago, the Earth looked very
different. There were no humans. Instead, dinosaurs ruled the land and the seas. This was
a time called the 3_ Cretaceous  Period. Then, suddenly, there was a mass extinction.

Scientists are not exactly sure what happened. But most of them believe that an 4 asteroid
or comet struck the Earth. This caused a 5 tremendous  change in the planet. Large
amounts of dust were thrown into the atmosphere. This 6 blocked the sun. No sunlight

could reach the Earth, so many plants died. The animals that ate the plants then 7 died .
And the animals that ate those animals died, too. The K-T Extinction killed all of the
8 dinosaurs . And about half of the other species on the planet died, too. After the K-T
Extinction, mammals began to increase in number. Eventually, humans 9 evolved . So,
without the K-T Extinction, 10 _humans might not ever have existed.
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asthenosphere mantle seismic wave Moho epicenter
lithosphere focus plate tectonics Pangaea seismograph

1 The mantle isthe part of the Earth between the crust and the core.
UWS2 X2zt st Aojof| U= X|FHe| F20ICh

2 The lithosphere is made up of the crust and the upper mantle.
M2 X2 F WEZ 0|F0{H ULt

3 The  asthenosphere is right below the lithosphere, but it is less rigid.
OIS AT bt Rof UXIDH 2 hstsic

4 Millions of years ago, all of the landmasses on Earth formed one giant continent
called  Pangaea .
2Dt 0| K| AlS] PE HEO2SS BRI Ste StLtel HhEt (S-S SAatct

5 A _ seismograph detects earthquakes and volcanic activity.
AEAE XIEat shirets S BRI,

6 Seismic waves _ are underground waves that are caused by
earthquakes. X[Zimt= x|Zlof st LMsH= ol mbxo|ct,

7 'The boundary between the Earth’s crust and mantle is called the  Moho .
XIFHe] X2zt HE Afo|e] BAE 2sHol2t FEC0

8 The focus isthe point where an earthquake begins. ZI&2 x[Elo| A==l X|Fo|ck



1 8 Daily Test

1 Currents  are caused by many factors, like wind, _ gravity , and heat from the sun.
2 Ocean floors  can be divided into three major _ regions :

the continental shelf, the continental slope, and the abyssal plain.

3  The continental  shelf extends from the shoretoa  depth  of about 200m and

has a gentle slope.

4 The continental slope isfound between  the continental shelf and the

abyssal plain.
An __ abyssal  plain is the flat and vast floor on the  bottom  of the ocean.
A trench isadeep  V-shaped valley in the sea floor.

5
6
7 A __ tsunami  isaverylarge wave thatis  often  caused by an earthquake.
8 The  tide isthe periodic rising and falling of the water _ level .

9

Coral reefs  are formed by small animals called corals.

10 An__ atoll  isaring of coral reefs that surrounda  lagoon .

() o1y Zolsigisti Clolg T2t HIzto| At MAlQ,
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(=71 2Lt | recede | flood flood
(Y2) Realct wipe out | trigger trigger
2m[stA| Stct ebb | devastate devastate
(@ =101 Y2 cioiz 22t 23 BIALL,
”””” stocks ~ pumped oilspills ~ ores  tidal
catch conserve resources mined creatures

Oceans cover around 71% of the Earth’s surface. And they are full of many different
1 _resources that can benefit humanity. For one, the oceans are a great source of fish and
seafood. Fishermen from numerous countries sail the oceans to 2 catch  fish for people
to eat. However, humans are catching too many fish. Fish 3_stocks are starting to become
smaller. So humans need to be careful. The oceans also have many valuable resources
beneath their floors. For instance, oil and natural gas are 4 pumped from beneath the
seafloor in many places. But, again, humans need to be careful. Sometimes, 5 o0il  spills
release large amounts of oil into the water. This can kill many fish, birds, and other sea
6 creatures . There are even large amounts of certain 7 ores beneath the ocean. Gold,
silver, and other valuable metals could be 8 mined in the future. And people can even
use the oceans for energy. 9 Tidal energy could provide cheap and abundant energy in
the future. But we need to take good care of our oceans. They have many resources, but we

need to 10 conserve them, too.
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38

The place where two or more plates meet is the  plate boundary
S 0|Afo] To| RiLF= 30| B 7|EXI2|o|Ct,

The  composition  of soil varies depending on its location.
EYo| d=2 1 AX[0l w2t TS,

A mass extinction  occurs when a large number of species are
suddenly killed. thzzEe 52 Zo| Zxp| =S of LAsict
Metamorphism  refers to the process by which metamorphic rock forms.

RIS BRI0| SAJEls TPSS it
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Igneous rocks  are formed through volcanic activity.

stdye eHietss Sl gEnt

Sedimentary rocks are formed through the buildup of sediment.
EMYUE EM=9l ENE Sl YdEt.

The _ fossil record  is used to study the Earth’s history.
el 71E2 X+ JAIE SH+oh= O] A EILL,

Index fossils  are fossils of organisms that are found in many places

and lived during a relatively short period of time.
HE 22 2] 01N 2R iMooz B2 712 SO AU 422l =M




1 9 Daily Test

1 The physical  properties  of a substance are its physical  characteristics , such
as its color, shape, or hardness.

2 A characteristic of a substance that reacts with other materials and forms new
substances  isits  chemical  property.

3 The number of  protons in an atom is its atomic number.

The  atomic mass is the sum of the number of neutrons and the number of
protonsina  nucleus .

5 [sotopes  are atoms that have the same number of protons but different
numbers  of neutrons.

6 The  periodic table  is the table that shows the chemical  elements
arranged by their atomic numbers.

7 Plasma  is not a solid, liquid, or gas but is the  fourth state of matter.

8 A substance’s  reactivity  refers to the property that  enables it to go through
chemical changes more easily than others.

9  Asubstance’s  stability  refers to the property that enables it to _ resist  going
through chemical changes.

10 Litmus paper  isused to test if something is an acid or a base.

() o1y Zolsigst Clolz 2t HIzio| Al Ha MAlQ,
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=28 &4 physical property | physical
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electrons neutrons atomic element nucleus
periodic number according protons Earth

All atoms have different numbers of protons, neutrons, and electrons. The 1 protons are
positively charged and are in the nucleus. 2 Neutrons are also in the nucleus. But they
have no charge. And 3 electrons  orbit the nucleus. They have negative charges. The
number of protons and neutrons in an atom is often—but not always—the same. Every
4 element has a different number of protons. This helps make it different from another
element. An element’s atomic number is the same as its 5 number of protons. For
example, hydrogen has only 1 proton. So this means that it has an atomic number of 1. It is
the first element on the 6 periodic table of elements. Helium is the second element. It has
an atomic number of 2. This means that it has 2 protons in its 7 nucleus . There are more
than 100 different elements. Scientists often recognize them 8 according to their atomic
numbers. Carbon is the basis for all life on 9 Earth . Its atomic number is 6. Oxygen is an

important element. Its 10_atomic number is 8. s
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sun. siF= HiEg, 9 BYEn 22

Ocean

floors

atoll
tide

9 coral reef

10 atoll

(i (=p]9)

12 ‘recede

13 flood

14 trigger

15 devastate

16 wipe out
| X MAl

E2 20501 2ls LECt

LsT—

shelf, the continental slope, and the abyssal plain.
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can be divided into three major regions: the continental
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is the flat and vast floor on the bottom of the ocean.

is a deep V-shaped valley in the sea floor.
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is a ring of coral reefs that surround a lagoon.
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are formed by small animals called corals.
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20 Daily Test

1 The  transformation  of the sun’s heat into electricity creates  solar  power.

The part of the  spectrum  you can see is called the _ visible  light.

Ultraviolet light and infrared light are invisible light

2
3
4 Ultraviolet  light is invisible light and causes chemical _ changes
5

Infrared  light is invisible light that is next to visiblered  waves  inthe

spectrum.

X-rays  can pass through most _ objects .
The  amplitude  of a sound wave controls the sound’s  loudness

o~

When an electric  charge  moves in a magnetic field, it produces
electromagnetic _ energy.

9  Electromagnetic _ waves  can transfer without matter or through  matter .

10 Thelawof  conservation  of energy states that energy can change forms, but the

total  amount of energy in a closed system is always the same.

() o1y Zolsigisti Clolg 2t HIzio| At MAlQ,
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radioactive electricity common harm courses
hydroelectric energy tides nuclear plants

In the modern age, human society runs on energy. Most machines need electricity to
operate. Humans have many different ways to create 1 electricity . But some ways are
harmful to the environment. For example, fossil fuels are the most 2 common kind

of energy. They include coal, oil, and natural gas. First, people have to mine them from
the ground. This can sometimes 3 _harm  the environment. Tidal energy is another way
to make electricity. This uses the ocean 4 tides to make electricity. But some kinds of
tidal energy can kill many fish and other sea creatures. Also, dams can create lots of clean
5 hydroelectric  energy. But dams create lakes and change the 6 courses  of rivers. So

they can change the environment very much. Nuclear energy is a very powerful form of
7 _energy . Itis cheap. It is also very clean. But many people are afraid of it because it uses
8 radioactive materials. Also, there have been some accidents at nuclear power 9 plants

in the past. But the technology is much better these days. So many countries are starting to

build more 10 nuclear power plants now.
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The physical properties  of a substance are its physical characteristics,

such as its color, shape, or hardness.
O SO S| JE2 O M 2 52 HiEen 22 29| S2|14 E4o|ct.

A characteristic of a substance that reacts with other materials and forms new
substances is its  chemical property

CHE S2u ES6I M22 S22 gdohs o S22 540] 79| stelr FZ=olct,

The  atomic mass __is the sum of the number of neutrons and the number

of protons in a nucleus. X} 22 Xt L0 U= SHRt| 4-0f 2buxto] -0 FO|Lt,
[sotopes  are atoms that have the same number of protons but different

numbers of neutrons. SLURAE YA} = LR BMX} 4= CH2 RXISOIC,

The periodic table  is the table that shows the chemical elements

arranged by their atomic numbers.
B 7| He HAMHSO| w2t BiEE stel Hass 20 = O[O,

Plasma is not a solid, liquid, or gas but is the fourth state of matter.
SEtAORE I AH| 7 [M7FOor 4ol S EHO|C

A substance’s _ reactivity  refers to the property that enables it to go through
chemical changes more easily than others.

S7lo| WIS 1 20| T2 AT O 271 SI51A WSS 22 4 AUTS siFE 4TS Usict

A substance’s __ stability  refers to the property that enables it to resist going
through chemical changes.
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1 The  factors or divisors of 16 are 1, 2,4, 8,and 16

2 A prime  number is one that can only be divided by __itself  and 1.

3 Composite  numbers, like 4 and 6, have  more  than two factors.

4 In 5> ,5iscalledthe base .

5 In_4° ,4isthebase and3isthe exponent  or power.

6  5%isread “fivetothe  second power

7 5%isalsoread “five  squared

8 4%isread “four cubed ”or “fourtothe third power

9 The  square root  of 16 is four.

10 A perfect square is a number that is the square of an integer: 1, 4, 9, 25.

-
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You have probably multiplied a number by itself before. For example, two 1 times  two
is four. (2x2=4) Four times four is sixteen. (4x4=16) Five times five is twenty-five.
(5x5=25) And ten times ten is one hundred. (10x10=100) When you multiply a number by
2 ijtself ,you are3 squaring it. However, what happens when you do an inverse
operation? An 4_inverse _ operation of squaring is finding the square root of a number.
When the divisor of a number and the result are the same, then that is the 5 square  root

of the number. For instance, the square root of 4 is two. (y4=2) Why is that? The reason is
that four ¢ divided by two is two. (4+2=2) The divisor and the result are the same. Also,
the square root of 49 is seven. Forty-nine divided by seven is seven. And the square root

of 100 is ten. One hundred divided by ten is ten. However, not all square roots are whole
numbers. In fact, they are usually 7__irrational numbers . For example, what is the

square root of three? Itisnota 8 whole number .Instead, itis 1.73205. It actually goes

on to infinity because it can never be solved.
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law of conservation electromagnetic invisible  infrared light amplitude

1 The  transformation of the sun’s heat into electricity creates solar power.

EfYEE 7|2 Hetolo] EfdE LS 2h=r

2 Ultraviolet light and infrared light are __invisible  light.

Aot M2 S7 AR,

3 Ultraviolet light isinvisible light and causes chemical changes.

Aede S7IARME0|H 2oty Hets goiny,

4 X-rays  can pass through most objects. 2A20l= tiFRO| AF2S Sngt 4= QUCt

5 The amplitude ofasound wave controls the sound’s loudness.

Shte| TZ0| 22|19 M7IE =ESIC

6  When an electric charge moves in a magnetic field, it produces
electromagnetic _ energy. loi7t X7 |1& UolM SAIY o TXP7| ol HX|S 443tk

7 Electromagnetic waves  can transfer without matter or through
matter. TAti= 0fE0| Qo= =2 U1ES SaiM= HZE 4 UCL

8 The law of _ conservation of energy states that energy can change
forms, but the total amount of energy in a closed system is always the same.
OllIX] E&E2] HEAL2 OllHX = HEHS B 4~ UXIZE THAHA LHoll M ol X|e] S22 Shed 2Tt USICE
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1 The odds of something happening are the  probability

2 Statistics  are facts that are collected from analyzing information _ expressed in
numbers.

3 A _proportion isan equation stating that two _ratios are equal to each other. (10 390)

4 A percent istheratio ofanumberto 100

5 A__ histogram  isakind of bar graph thatis used to _ tabulate  frequencies.

6 A circle ograph  is used to show how individual data relate to the whole .

7 Tree diagrams  show all the possible outcomes.

8 A _ sampling isasmall part of a group that is selected to be tested or _ analyzed

9 A terminating  decimal is one that stops at a certain place below the decimal point,

suchas 0.25 .
10 A repeating  decimal is one that continues to __infinity , such as 0.33333...

() o1 Zolsigist Clolg Zat HIZIo| | HA MALQ,

H|7ASHCE cross multiply | eliminate | eliminate

H=Z PESCH | range | tabulate tabulate

AU median | mode median

HES coordinate axis | coordinate axis
coordinate plane

(C) 71014 U3 CHO1E B34 2L SYBINIL.

probability percentage circle graphs X-axis
interprets analyze bar graph y-axis

The probability of something is the chance that it will happen. This is often expressed as a
1 percentage . For example, if you flip a coin, the probability of it being heads is fifty
percent. You can determine the 2 probability by taking the number of ways something

can happen and dividing it by the total number of outcomes. Statistics, on the other hand,
is the field of math that collects, organizes, and 3__interprets  data. Once data has been
collected, one of the easiest ways to 4 analyze it is with graphs. For data that involves
probability, 5 circle graphs —or pie charts—are the best to use. These can be divided

into 100 percentage points. On the other hand, other statistics are best recorded on a
6 bar  graph . These are simple charts with an x-axis and a y-axis. For example, perhaps

the person is recording some students’ best subjects. The classes are English, math, science,
and history. These classes go on the 7_x-axis , which is horizontal. The number of students
that do well in each class goes on the 8 y-axis , which is vertical. This makes the data easy

to see and to interpret.
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46

composite number square power perfect square factor
prime number exponent base square root cube

Ql& okx="  factor . 9 square root M= 2E

A= prime number 10 perfect square &Tixl=

St composite number 11 square (v.) M=ot

= base 12 cube (v) MIMZStCt

NS exponent 13 raise to the second power  H&EsicH
JERZ power 14 besimplified etz

&, g9 __square 15 set i

MIAE, &gt cube 16 member 2AA

QIES GRS HY|Of A B2t L SHH SOHol Qi TH MALL.

—

The factors or divisorsof 16 are 1, 2, 4, 8, and 16. 162] 2= 1, 2, 4, 8, 160|C,

A prime number is one that can only be divided by itself and 1.

A= O A1 28 L 4 = 20|t

Composite numbers |, like 4 and 6, have more than two factors.

42} 6 22 = F N 0lyel ofE 71T

In 4%, 4 is the base, and 3 is the  exponent  or power.
430N 4= 20|11, 32 X =22 HEMIZ0IC

5% is read “five to the second  power [ 522 59| xigolefm Ql=ct
5%is also read “five  squared ” 5% 59| & 0l2tnE 2=t

4% is read “four  cubed ” or “four to the third power.”
432 49| MNIE 01212 =Lt

The  square root  of 16 is four. 162 HEZ2 40]ct,
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1 The metric system is a measurement system that is based on multiples of ten.

Customary  units of length include inch, foot, yard, and ~ mile .

The basic _ unit  of length in the metric system is the  meter .

Units that measure length, width, height, and distance are called _ linear units

2
3
4
5 The basicunitof  capacity  in the metric system is the  liter .
6  Thebasicunitof  mass  inthe metric system isthe  gram .
7

In the metric system, the  conversion  of one unit to another simply involves
moving the  decimal point . (2.195m =21.95dm =219.5 cm)

8 Hours, minutes ,and secondsare unitsof time .

9  The time that has passed by froma  given = momentis  elapsed  time.
10 Kilo- and centi- are  prefixes  used in the metric system.

() o1 Zolsigst Clolg T2t HIZio| Al HA MAlQ,

RHCH measure | translate measure
=0 Mt abbreviate | prefix abbreviate
Tetstot make up | convert convert

base-10 unit decimeters hectometers
milliliters kilogram Celsius metric system

The metric system is a system of measurement that uses the 1 base-10  system. I

measures length, volume, weight, pressure, energy, and temperature. There are several units
in the2 metric _ system . But, since it uses the base-10 system, converting them is quite

easy. The meter is the 3_ unit used to measure length in the metric system. But there are
also millimeters, centimeters, decimeters, decameters, hectometers, and kilometers. So,
in 1 meter, there are 10 4 decimeters , 100 centimeters, and 1,000 millimeters. Also, in 1
kilometer, there are 10 5 hectometers , 100 decameters, and 1,000 meters. The liter is the

unit used to measure volume in the metric system. However, there are also 6 _milliliters ,
centiliters, deciliters, decaliters, hectoliters, and kiloliters. The method to convert them is
the same as for meters. The gram is the unit used to measure weight in the metric system.
The most common units of weight are the gram and the 7 kilogram . Finally, the metric
system uses 8 Celsius  to measure temperature. 0 degrees Celsius is the temperature at
which water freezes. 100 degrees Celsius is the temperature at which water boils.
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U2 YOI, Gole LBIUR 2AQ,

1 e probability . 9 terminating decimal _®3tA4

2. SAED statistics 10 repeating decimal #8tA

3 HIF(A) proportion 1 cross multiply mAF BAS Sict

4 THME percent 12 eliminate _ Apiaict A745ict

5 S|AET  histogram 13 tabulate H= DHSC YEES oS0t

6 2 Jsj= circle graph 14 median ey

7 $aE tree diagram 15 range He

8 = (F&) _sampling 16 coordinate ZH

7100 QLS TS Ho|A F2t LRSI SHo i TH M|

probability tree diagram proportion repeating decimal percent

statistics circle graph histogram terminating decimal sampling

1 The odds of something happening are the  probability
OffH 20| Uofe 7Hs40| =Bolck,

2 Statistics _ are facts that are collected from analyzing information expressed
in numbers. SAle #XI2 BHE HEHE 2AGHA SEE AMO|C,

3 A _ proportion isan equation stating that two ratios are equal to each other.
H2EA2 F IS0 Mz &35S UEH= SA0ICt

4 A histogram isakind of bar graph that is used to tabulate frequencies.
SIAEOME EAE HE LEHAY| 2f6 AISkl= YE2] Bfth Z12io|c,

5 Tree diagrams  show all the possible outcomes.
TYEE BE VISt 2UE 2o &Lt

6 A sampling isasmall part of a group that is selected to be tested or
analyzed. &2 722 AE5trLE 249517| st MEAE 0fiE ZiTto| Xt BE0|Ct,

7 A __ terminating decimal  is one that stops at a certain place below the
decimal point, such as 0.25. F8tas= 025712 247 0f2f2] O Xt2|ofl M TIxl= A40]CH,

8 A  repeating decimal is one that continues to infinity, such as 0.33333...
w@tAa= 033333 XE Feih= AlS == A40lnt,
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1 A _ bisector isaline segment that splits an angle into two congruent _angles .

2 Figures that have the same shape and size are  congruent figures

3 Figures that have the same shape but have different  sizes are similar figures.
4 The  corresponding  angles of similar triangles are the same as one another.
5 The lengths of corresponding sides of similar figures are  proportional

6 A polygon can be divided into two identical halves by an _axis of symmetry

7 A symmetrical triangle has an axis of symmetry.

8 The  perimeter ofafigureisthe  linear  distance around that figure.

9 The  circumference isthe perimeterofa  circle .

10 Transformation is the movement of a figure by translation, rotation, or

reflection

() o1 Zolsigst Clolg T2t HIZio| Al HA MAlQ,

~2t &S0I|Ct | be the same as | be congruent to
be congruent to

O|S=slct bisector | bisect bisect
3XHA second dimension | third dimension

third dimension

@ =701 e ciolz B2t 23 BIAIL,

geometrical dimensions horizontally depth
solid figure z-axis represented three dimensions

The physical world we live in has three dimensions. These three 1 dimensions can all

be measured and charted on a graph. They are length, width, and depth. Length is the
first dimension. It is represented by a simple line. On a three-dimensional graph, it is
represented by the x-axis, which runs 2 horizontally . The second dimension is width.
When an object exists in two dimensions, it can take the shape of a 3 geometrical figure,

such as a square, rectangle, triangle, or circle. In other words, it can be represented in
both length and width. On a three-dimensional graph, width is 4 represented by the
y-axis, which also runs horizontally. The third dimension is 5 depth . It is also called
height. When an object exists in 6 three dimensions , it can take the shape of a

7__solid figure , such as a cube, pyramid, sphere, or prism. On a three-dimensional
graph, depth is represented by the 8 z-axis , which runs vertically. The fourth dimension

is time. Scientists have a name for a cube that exists in four dimensions. They call it a
tesseract.
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1 O|EHY metric system . 9 elapsedtime Zat ARt

2 O|= =2k tke|  customary unit 10 prefix HFAL

q 7= =) basic unit 1 measure XHCE, S&o|Ch

4 1%Rl, MBO| _linear 12 abbreviate _Z0i urh, =it

5 22F capacity 13 convert T2t5iCH HERCH

6 £m| zzf mass 14 translate HMRCE TX|CH HSISIT
7 X3t Hst conversion 15 hecto- HY

8 A|Zrel &2  unit of time 16 deka- Al

() w701 Qe S BIoIA B2t LRSIH 2ol G TH MAQ

mass linear unit conversion metric system elapsed time
prefix basic unit capacity customary unit unit of time
1 The _ metric system is a measurement system that is based on

multiples of ten. DIEfHS 102 b0l 7|8tS & SXYolct

2 The _ basic unit _ of length in the metric system is the meter.
O[E{EolA Z019] 7|2 Eel= D]

3 Units that measure length, width, height, and distance are called __linear

units . Z0| H0|, =0/ 72IE M= HIE 1A T2t FECT,
A Customary units _ of length include inch, foot, yard, and mile.

Z0[9] 0= =2 Hel= QIR IE, OfE, OiYsS mefelth

5 Inthe metric system, the  conversion of one unit to another simply
involves moving the decimal point.

O[E{oll A, SF THRloM THE TRz o| Mak2 Zits| A4FEE &7

6 The basic unitof  capacity  in the metric system is the liter.

OIE{EolM 2| 7|2 Hel= 2lEo]Ch

7 'The basic unitof mass in the metric system is the gram.
O[EHolA o] 712 THete 2ol

8 Kilo- and centi- are _ prefixes  used in the metric system.
222t HIE[= DIER0IM A== TFA0IC
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1 Rhymed  verse isthe mostcommonlyused  form  of verse.
Prose is written language in its usual form, in contrast to _ poetry .

A __ prose poem is poetry written in prose.

2
3
4 Poems often repeat  rhymes ina  regular  pattern.
5

A stanza  consists of a group of lines that usually hasa  similar  pattern of
rhymes.

6 A couplet consistsoftwo  lines  that rhyme with one another.

7 The _ rhyme scheme is the pattern of rhymes that a poem follows.
Two  common  rhyme schemes are ABAB and AABB.
8 Most poems havea  regular meter  or arhyme scheme.
9 Free verse  is poetry that follows no _ particular  meter or rhyme scheme.

10 A sonnet isapoem that has 14 lines.

() o1 Zolsigisti Clolg T2t HIzto| At MAlQ,

2(Z)o| &t rhyme | meter rhyme
opESHCE exaggerate | stress exaggerate
QI=Z5[Ck quote | verse quote
d3tsict force | reinforce reinforce

types rhyme schemes epic poem sonnets
couplet limericks Gilgamesh Shakespeare

Poets have many different 1 types  of poems to choose from when they write. They can
write very long or very short poems. They can write about many different subjects. And
they can write with different 2. rhyme schemes and in different meters. One of the

oldest types of poems is the epic. This is a very long poem. It can often be thousands of lines
long. An 3__epic poem _is typically about a hero and his adventures. There have been
many famous epic poems in history. The Iliad, Odyssey, Aeneid, Beowulf, and 4 Gilgamesh

are just a few of the many epic poems. On the other hand, many poems are very short.
5 Sonnets are one type of short poem. They are poems with fourteen lines. Usually,
the last two lines in a sonnet rhyme. Sonnets can be about many different topics. William
6 Shakespeare wrote many famous sonnets. Couplets can be long or short poems. Each

stanzain a7_couplet has two lines. The last word in each line rhymes. Quatrains are very
short poems. They only have four lines. And cinquains have five lines. 8 Limericks are
also poems with five lines. And haikus are poems with only three lines.
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(D) s o1z, otk Qo= AR,

1 0|S=M bisector . 9 circumference - 2% #iEd

2 E==d congruent figure 10 transformation Bi& x|&t

3 MAIEH similar figure 11 be congruentto ~2&s0|ct

4 L=eh= corresponding 12 bisect U O|SESICt
5 Hlallsk= proportional 13 two-dimensional figure  EHEH
6. St identical 14 three-dimensional figure A=
7. CH=le] symmetrical 15 first dimension  1xk2 M

8 . (=89 Sa _ perimeter 16 third dimension 3xt&l, 2|

identical bisector congruent figure circumference proportional
similar figure symmetrical corresponding transformation perimeter

1 A _ bisector isaline segment that splits an angle into two congruent angles.

OlsEdE o i F 79| &S 2422 e 4=20]0t

2 Figures that have the same shape and size are _ congruent figures

22 2ot 5712 KD Y= EHSS BS=SOI

3 Figures that have the same shape but have different sizes are  similar

figures . Z2 2US 7HX|1 UX[Et 2717t O EFES F2B0|ch

4 'The  corresponding angles of similar triangles are the same as one another.

Hea o2gel tiScle 242 M= Zrt,

5 'The lengths of corresponding sides of similar figures are __ proportional

SH2E9 M2 thgsh= He| Z0l= et

6 A polygon can be divided into two __identical  halves by an axis of
symmetry. G2 thasoll ofch & 7He £22 BiZo= Lid 4 Ut

7 A __ symmetrical triangle has an axis of symmetry.

e g2 tidss 7K Utk

8 The perimeter of a figure is the linear distance around that figure.

O 50| Eofle= 1 E8S | == Aol Zolo]Ct,
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1 Common nouns  name any person, place, or thing: teacher, school, book.

Proper  nounsnamea _ specific  person, place, or thing: Tom, Seoul, England.

We use the  active voice  to say what the subject does.

We use the  passive voice  to say what happens to the subject.

Many  words  in English have Greek or Latin _ roots .

A sentence with one independent clauseisa  simple sentence

2
3
4
5
6  Thestudyofthe  origins ofwordsis  etymology
7
8 A sentence with two or more independent  clauses isa  compound  sentence.
9

A sentence with one  independent  clause and at least one dependent clause is a

complex sentence

10 A sentence with two or more independent clauses and at least one dependent clause is
a compound-complex sentence.

() a1 Zolsigsti Clolg T2t dizio| Al B MAlQ,

=AlEl) analyze | identify analyze
Sfolstt analyze | identify identify
HelolA| oftt | classify | clarify clarify
=54 dependent clause | dependent
independent clause clause

languages roots hydro vid thanks
borrowing aster script Latin Greek

English has more words than any other language. Why is this? One reason is that English
borrows words from many other 1_languages . Then it turns these words into new English
words. Many of these words come from 2 Greek and Latin. These are called 3_ roots .
By studying roots, a person can learn the meanings of many different words in English. For
instance, the root 4 hydro comes from Greek. It means “water.” From that root, we get the
words hydrate, dehydrate, hydrant, hydrogen, and many others. The root 5 aster comes
from Greek. It means “star” From aster, we get the words asteroid, asterisk, astronomy,
astronaut, and many others. Of course, there are many roots from é Latin , too. For
instance, the root 7_vid means to “see” From that root, we get video, visual, visualize, and
many others. The root 8 script means to “write” From it, we get transcript, inscription,
and others. Without 9 borrowing from other languages, English would have very few
words. But, 10 thanks to Latin and Greek—and other languages, too—English has many,

many words.
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110 94012, ol QLT MA|Q,

L == verse L e 28(8), 24
P Pialis prose 10 sonnet AUE, 14344
3 AR prose poem 1 rhyme S(8)0] 2k, eesict
4 (ANQ) & 22 rhyme 12 exaggerate dIESICEH
5 (A4, = stanza 13 stress xS ZMIS ot
6 28 AT = couplet 14 quote QIEsICt
7 28 SiAl rhyme scheme 15 reinforce Zshsict, 24|t
8 XA free verse 16 allegory el|lma|, 22
7tof| g2 ko H7Jo|M Z2f LA SHH FOHO|| G| 114 MA|Q
 prose prosepoem  freeverse verse thyme
stanza sonnet rhyme scheme meter couplet

Rhymed verse is the most commonly used form of verse.
JeEAE 71y 2o AMExE 22 A0t

Prose is written language in its usual form, in contrast to poetry.
LE2 AR EHE| el daleoz MAEZ0|TE

()

Poems often repeat  rhymes  in a regular pattern.

Al= 25| UFBH BA0=2 9SS BH=SiC,

A stanza  consists of a group of lines that usually has a similar pattern of
rhymes. &2 7 B8t S4l0| ARS 711 Ytto| o2 o|20{ 7Lt

A couplet  consists of two lines that rhyme with one another.
23 Gi7= Mz 20| 3= 5 JHo| o 0j20ZIC)

The  rhyme scheme is the pattern of rhymes that a poem follows.

A2 BAI2 ofE At m2 28 SAlolct

Most poems have a regular _meter  or a rhyme scheme.
HEES| A= BHC2 MoX|1 g2 YAE 71|12 ATt

I_

A sonnet isapoem that has 14 lines. AUEE 1432 7121 Ajo|ct
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1 A friend in need isafriend indeed .

Necessity  is the mother of  invention

Dont _ count  your chickens before they  hatch .
Haste ~ makes waste.

Birdsofa  feather flock  together.

Beauty  isonlyskin  deep .

2

3

4

5

6 Theearly bird getsthe worm .
7

8 Dont_ put allyoureggsinone  basket .
9

The  grass  isalways  greener  on the other side of the hill.

10 Procrastination is the thief of time.

() 9212 ol sigsti Tlolg ot Hiztol Ml 1Y MAlQ,

T2 0|FCE | interpret | put off put off
TSt convey | procrastinate convey
Ausict postpone | moralize moralize
£H proverb | folklore proverb

opportunity fonder valuable hesitate warning
absence glitter spilt wisdom move on

Proverbs are short expressions that people sometimes use. They typically pass on some type
of _wisdom . The English language has a very large number of proverbs. One proverb
is “Absence makes the heart grow 2 fonder ” It means that people usually have good
memories of events or people from the past. Of course, at the time, they might not have
thought much of them. However, over time, the 3“ absence ” changed their memories,
so they remember the events or people fondly. “All that glitters is not gold” is another
important proverb. Gold is very 4 valuable , and it glitters brightly. But many other things
5 glitter , too. However, they may not be valuable. In fact, they may even be harmful.
So this proverb is a ¢ warning . “He who hesitates is lost” is a popular expression. This
proverb tells people not to 7_hesitate . They should make a decision and go with it. If they
hesitate or wait too long, they might lose an important 8 opportunity . Finally, “It'’s no

use crying over 9 spilt milk” is another common proverb. Sometimes bad things might

happen to a person. But that person should not cry about it. Instead, the person should
accept what has happened and 1©_move _ on
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etymology

12 ofoI2, ool QAR MALQ,

HEHA} common noun . 9 complex sentence =2
DRBAL proper noun 10 compound-complex sentence F==
Sy active voice n parse (2x2) sitsict, EAfict
+SH passive voice 12 analyze (22) shsict, 2A5HCH
o2 root 13 identify SfOISIC}, AHSICE

O (&) etymology 14 clarify (olo| 52) 345 ict
chE simple sentence 15 clause =

== compound sentence 16 dependent clause Z&£F

compound-complex complex sentence
compound sentence simple sentence

active voice
passive voice

root

We use the  active voice  to say what the subject does.

FE= FO7F FAE SI=XIE T 1 SSEHE ARSI

We use the  passive voice  to say what happens to the subject.

FEl= FO0A F& Lol 2oU=XIE 2 T +SEHE ASSIT,

Many words in English have Greek or Latin _ roots .
FJ019| B2 THOIS0] 2| A0Lt 2fEI09] OfE 7RI QT

The study of the origins of words is __etymology

TI019] OfEE A+iSk= =k20| ofEstolCt,

simple sentence

A sentence with one independent clause is a

Shtel SEES 7IX|1 A= =F0| H=Oolot,

A sentence with two or more independent clausesisa _ compound

sentence . F i 0l4e SEEZ VXD Q= 20| &20|ct

A sentence with one independent clause and at least one dependent clause is a
complex sentence . St SZEU F|ASt 5ILIS| SEES VKL /U= 220| S20|ck

A sentence with two or more independent clauses and at least one dependent
clauseisa  compound-complex sentence.

T Oleo] ZelEnt Z|agt 5t ELHES 7K Q= 80| S==0I0t.

g
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1 Theartof ancient Greece and Rome is often referred to as Classical  Art.

2 There were three classical  orders  in ancient Greek architecture: the Doric order,
the Ionic order, and the  Corinthian  order.

The  Doric  order  column  was the oldest and plainest.
The  Ionic  order column was more  slender  and elegant than the Doric order.

The Corinthian order column was the most  elaborate

o o1 &~ W

In Greek architecture, balance and _ proportion  were the most important

qualities  of art.

Greek buildings are often _ well  balanced and _ symmetrical

8 The  columns had to be in proportion to all of the other parts of the building in

ancient Greek architecture

9 Gotbhic Art  was an expression of the ideas of the =~ medieval  church.

10 _ Linear _ perspective allowed painters to make their paintings look more _ realistic .

() 2212 ol sigsti Tlolg Tat Hiztol Ml 1Y MAlQ,

sHZ&sict take out | work out work out
SdolCk honor | ornate honor
-Hs|Ck survive | strive strive

pottery ceramics decorative columns works
sculptures depicted Doric Corinthian pictures

The ancient Greeks loved art. They made all kinds of 1 works  of art. This included
pottery, paintings, sculptures, and murals. The Greeks even considered their buildings to be
works of art. So they made beautifully designed buildings as well. Many examples of pottery
have survived from ancient Greece. 2_ Pottery in ancient Greece had two functions.
People used it to eat or drink from. And they used it for decorations. Many Greek
3 ceramics  have beautiful pictures painted on them. These 4 pictures often show
stories from Greek mythology. Sculpture was highly prized in ancient Greece. The Greeks
made 5_ sculptures from either stone or bronze. Many stone sculptures have survived to
today. But few bronze sculptures have. The Greeks ¢ depicted the people in sculptures
exactly as they looked in real life. As for architecture, many Greek buildings still exist today.
One important feature of these buildings is their 7 columns . The Greeks made three
types of columns: Doric, Ionic, and Corinthian. 8 Doric columns were the simplest. They
had very plain designs. Ionic columns had flutes, or lines, carved into them from the top
to the bottom. They were also more 9 decorative  than Doric columns. 10 Corinthian

columns were the most decorative ones of all.
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(D) s o1z, otk Qo= AR,

1 Zo=z XMat  jndeed * o, deep Zo|7} ~2I

2 (ZIZsh =R  necessity 10 procrastination 0|2= HZ XA, H7|
3 Holsir} hatch 11 put off F|= o2t 7 (stct

L NFE, =3 _ haste 12 postpone FIZ O|FCH A7[siCt

5 mXof 20t flock 13 convey  mesich Esict

6, He|l worm 14 moralize  Awsich =EHS 7t=X|ct

7 s ECk_put 15 folkdore iz oizi s

8 = =% grass 16 aphorism- &7, 3, A

(3)  wiziol wgke T2 wIloIA Zat Wi S| g 31X MA|Q,
procrastination deep haste hatch grass
necessity worm flock put indeed

1 A friend in need is a friend indeed .
A2 el 2727t FIMp Z1510|C

2 Necessity  is the mother of invention.
He= YHO| ofoiLo|ct,

3 Don't count your chickens before they  hatch .
2= 717 Tof| Hol2[RE MIX| of2t,

4 Dont  put all your eggs in one basket.
2E 7Algts o BiLoll =Xl o2t

5 The grass isalways greener on the other side of the hill.

AHE AHe| 7t ML o F=2E oIt

6 Beautyisonly skin _ deep .

0|2= K] A= 8t 7HE.

7 Haste  makes waste.

M2t A Q270

8 Birds of a feather  flock  together.

22 AES 71 MSO0| &l =2lC
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1 Baroque Art  is known for its dramatic _ contrast  of light and shade.

2 Chiaroscuro  refers to the contrast between light and darkina  painting .

3 Baroque Artmay seem  verydramaticand  grotesque  at first.

4 The  contortion  of bodies created many of the grotesque  statues .

5 Rococo Art  is characterized by its decorative and _lighthearted  look
that uses pastel colors.

6 Pastels  are colors that appear both softand  pale .

7  Jacques-Louis David was a highly  influential French painter of Neoclassical Art.

8  One of the most important subjects in _ Romantic Art  was nature.

9 Etchings  are pictures printed from a metal plate that are created through the use
of acid .

10 Exaggeration  of physical characteristics was one __element  of Romantic Art.

() o1 Zolsigist Clolg Zat HIZIo| Al HA MALQ,

XHORLHCE evoke | depict evoke
SEA7ICH revive | revival revive
Efot HISCk exaggerate | contort contort
ol st contrast | etch etch
(@ =701 Qe ciolz 22t 22 BIAIL,
"""" as  shared stressed  religious  contrasts
Baroque admire emotions century perspective

From around the late sixteenth century to the early eighteenth 1 century , there was a
new type of art in Europe. It was called 2 Baroque . There were Baroque artists in every
European country. So they all had slightly different styles. But there were many similarities
that Baroque artists 3_shared . For one, there were often 4 contrasts between light and
dark in Baroque paintings. The artists also focused on movement. And they 5 stressed
facial expressions in the figures they painted. This was one way they tried to show
6__emotions in their paintings. The works of Baroque artists also had symbolic or

moralizing meanings. Many Baroque artists painted 7__ religious  topics, too. One very

important characteristic was that Baroque artists were realists. So they painted their
subjects as realistically 8 as possible. They knew about 9 perspective . So they could

show things such as size and distance. They were also able to use the space in their
paintings very well. This ability made many Baroque artists quite famous. Today, people
still 10_admire the works of artists such as El Greco, Rembrandt, and Caravaggio.
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lonic order linear perspective order Classical Art proportion
Doric order Corinthian order column Gothic Art symmetrical

12 ofoI2, ool QAR MALQ,

o™ oz Classical Art . 9 GothicArt 1= o = 0j

(=) LAl order 10 linear perspective =i 211
E2|AAl Doric order 11 work out (EXl S2) Ec, shZsict
0|L|0}Al lonic order 12 beinfluenced by  ~o0i7i|l & Hict
TZEA Corinthian order 13 be inspired by ~O||A| HES BTt
HE 73 proportion 14 dedicate HEXIEL, SI&5iCH

(Z}2) CHAIAQ1  symmetrical 15 honor Sl HolE ot Fholsic
s, 2= column 16 strive LESIC}, OfMCEH

There were three classical orders in ancient Greek architecture.

2t az2lA A=0l= M Z7EK| 2 FA0] AUCE

The _ Doric order  column was the oldest and plainest.
E2|AA 7IE2 71 22iE1 HHUC

The Corinthian order column was the most elaborate.
AREA 7|52 Jh Hmct

The _ Ionic order  column was more slender and elegant than the
Doric order. 0|2L[0}A] 7|52 wa|AAEC B WG R0134CE,

In Greek architecture, balance and  proportion  were the most important
qualities of art. 22|~ ZiZ0|Ms F&0t HIE0| o&2] 71 EREH SZ0IUCE,

Greek buildings are often well balanced and  symmetrical

J2|A0 ZIES2 tl 0| & &5|1 ZHEHO|CH,

The  columns  had to be in proportion to all of the other parts of the
building in ancient Greek architecture.
ot a2|A A0l 7IS2 =2l The 2= F22) Hl|17F Kofof ik

Linear perspective  allowed painters to make their paintings look
more realistic. =M JTH2 SPIS0| 152| 18IS O AMKHOR HO[H| 25 4 Q=2 Jict




30 Daily Test

1 The  bass clef
The treble clef

is also known as the F clef.
is also called the G clef.

are placed on lines or between the linesofa _ staff .

Musical notes

2
3
4 A grand  staff has two
5
6

staves , a treble clef staff and a bass clef staff.
The  time signature  shows how many beats are in each _measure
A scale isafixed  sequence  of musical notes moving from low to high or
high to low.
7 Whenyouplaya chord ,youplayseveralnotes at a _ time
8 Three-note chords, also called  triads ,are commonin  popular  music.
9 A characteristic of Baroque musicis  counterpoint
10 A  string quartet  usually consists of a viola, a cello, and two __ violins .
@ Q2| 2o HLHSEE TS Z2t HIZHof Al Y MAjQ
THESICH distinguish | consist | distinguish
SHksict involve | follow involve

~0fl ol5tct

pay attention to |
give attention to

pay attention to

O =2|A| adagio | largo largo
BI10IA QoL Clotg T2t 23 eHgstAle
K suddenly Classical Schubert anytime rhythmic
sophisticated melodies mood popularity characteristics

The years between 1750 and 1820 saw some of the greatest music ever created. This time
is now called the 1 Classical Period of music. Among the composers who wrote during
this period were Mozart, Beethoven, Haydn, and 2 Schubert . By 1750, people were
getting tired of the Baroque Period. So they worked on new forms of music. Thus arose the
Classical Period. It has several important 3 characteristics . For one, the 4 mood of

the music often changed. In a single piece of music, there was not just one mood anymore.
Instead, the mood could suddenly change 5 anytime during a piece. The same was true
of the rhythm of the music. Music from this period followed several different 6 rhythmic
patterns. There were often sudden pauses. Or the music would 7__suddenly  go from
being very slow to very fast or from very soft to very loud. Also, music from the Classical
Period has beautiful 8 melodies . The works the composers created are typically easy to
remember. Of course, they are still 9 _sophisticated works. But the ease with which people
can remember them has helped increase their 10 popularity .
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1 HI23 o0& Baroque Art . 9 etching oIg, BAl STHE)

2 chiaroscuro 10 exaggeration I, 1jxlEl HE

3 7|t grotesque . 11 evoke UPHSCY, XIoPLHCH

4 HIE7|, §IE8 _ contortion 12 revive AMSHA| ST SEA|7|CH

5 237 0la Rococo Art 13 contort _ ZObHISch Aajeaict

6 TAH pastel . 14 depict J2|ch, BAFGICH

7 AlDTX=o| o= Neoclassical Art 15 etch Of|2lsICt, Alzisict

8 ool nls Romantic Art . 16 contrast CHZSHCH CHHISHC

HIZ10] QL. Gk W oflA| B2t TASHH 2OHo Q| K MALQ,
Rococo Art etching exaggeration contortion pastel
Romantic Art grotesque Neoclassical Art Baroque Art chiaroscuro

1 Baroque Art  is known for its dramatic contrast of light and shade.
HIZ3 Ojs2 Hat JEXte| I 5491 thH| =2 &2 22X QT

2 Baroque Art may seem very dramatic and  grotesque  at first.
8125 022 #S0l= OFF 011 7[aEpH| Y 4 Utk

3 The contortion of bodies created many of the grotesque statues.
LiHe] HEE2 B2 Vlalet 22YEs TS0 Wt

A Rococo Art  is characterized by its decorative and lighthearted look
that uses pastel colors. 277 0|&2 TAZ MS AESH= 1 HA1X0| 1 Zash 2&0] SEo|ct

5 Pastels  are colors that appear both soft and pale.
MEASIS RERin Sls) =0l Afo|ck

6  One of the most important subjects in _ Romantic Art  was nature.
g2l njz| 7ty SR8 FHlE & ofts XS0,

7 Etchings  are pictures printed from a metal plate that are created through
the use of acid. OIF Tsh= A2 ALZSI0] 2HS017 SLEOZ RE Q4HE T7o|ct,

8 Exaggeration  of physical characteristics was one element of Romantic Art.

12 9012, ol Q2ILZ MA|Q,

Al E70] 10| YRIFO| Dlgo] Bt ATt



Wrap-up Test 1 unit 01~30

15 o] consumption 16 utilize OlZ3Ic E2S|et
2 HI5}7| Ice Age 17 domesticate ZE0|Ch 7|Ch
3% (AEhelprial: b caravan 18 reign TRIGICEL XHHSICE TS Rict
4 MXIX}, oll¢iXt _ prophet 19 prohibit =it SXI5Hct
Z K Reformation 20 dedicate HEXICE S8tsict
61, el refugee 21 execution AR 23l X3
7 RSt genetics 22 convince _ EHIAIFICH HEAZICH
8 AR chromosome 23 natural selection _ XIGME] XIHZE]
9 (AE{) MO| . succession 24 regulate TAlGHCt =St
10 TEHo contagious 25 trigger (U2) RSt ~2| A7 |7t =|ct
11 X|RIof seismic wave 26 devastate Emci7| sich 25| mlstCt
12 MXfmb electromagnetic wave 27 stabilize Sik=E O R [ L
13 H& kA index fossil 28 verse 2=
14 A= prime number 29 prose A2
15 e composite number 30 postpone 2 0|2L} ¢7[5HCtH
@ H|Ztof| QIO AtS H7[oflA Z2t TRSHH ZOHo|| O] X MA|Q
French Revolution lithosphere exponent
absolute location order cell division
1 Each spot on Earth hasan __absolute location _ identified by the lines of

latitude and longitude. XI74e] 2t X2 ZMnt Mol Qfsf AlHEl= HHA QXIS 7HK| QI

2 Liberty, equality, and brotherhood became the slogan of the

SHoflE A HAHO 2= 210 =RACH,

PN

Revolution

3 Cell division

NEZE2 d=0| §ot== st

4 'The

Zo|ct,

lithosphere

X2t A i

oOT —=

OF0{A QL.

5 In 42 4 is the base, and 3 is the

40| 4= 0|12, 32 Xl =2 HSHIS0IC,

exponent

6  There were three classical  orders
1 J2|A AS0l= M| 78K o™ FA0| QURALCE

- O

French

is what causes organisms to grow.
is made up of the crust and the upper mantle.
Or power.

in ancient Greek architecture.
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1. M=7| At Bronze Age . 16 distribute _ SH5iCt, REAIZICHL it
2 QA 2% IndusValley civilization 17 execute _ mgtsict
3 9= 2t dynasty 18 exile Fussict, Qo) Ml
el e 19 infect FAZ|CH 2Tt
5 LHZt LA civil war 20 paralyze OH|AIZ |
6 Mt globalization 21 convert  HMEBICL BBl
7 EtA &5t carbon cycle 22 generate (8, 27| 52) A7 ICH
8 ZA 25| nitrogen. cycle 23 self-pollinate  xist s==5lct
9 YUXHHS atomic number 24 mass extinction HZES
10 2= continental shelf 25 square MiEstct A, Fet
1. 8= probability 26 cube MIFIESCt MK, 8t
12 S8 statistics 27 evoke UPHRLY, KORLHT
13 7l grotesque 28 revive  AMSPI Sick 2EAPL
14 HIE7|, FIE2! contortion 29 counterpoint  CH®E
15 Z=El passive voice 30 reinforce dstsict HZsICt
Ziof| ¢4ato ako B 7|oj|A Z2t T Q5 2OHOj| Ok J1X MA|Q
similar Great Power Protista
demand isotope root

4

The amount of a product or service that people want to buy is the  demand .
AFHS0| FOish [E Bohs &F0|L MH|AL] 40| 4~20|C

The _ Great Powers _ in Europe dominated much of the world in the
nineteenth and twentieth centuries. R ZZS2 19M1712t 20417 [0f M) CHEES Fot3HLY,

Organisms in the  Protista  kingdom are protists such as amoebas, algae, and
some slime molds. 270|422 ofolHl, 257, Hm=et 22 2ysltt

[sotopes  are atoms that have the same number of protons but different
numbers of neutrons. SHALE YUK} = 2P SR} = CHE |IXKSO|C

Figures that have the same shape but have different sizes are  similar  figures.

2 2YS 7K1 AR 277t THE EES T2E0(0t,

Many words in English have Greek or Latin __ roots .
Fojol B2 THOIS2 J2|A0L} 2HEI0{9] OjFE ZHX|LL QT



